Lathe parts

2-Jaw High Speed Hollow Power Chucks

> >Dimensions

NS
z ! ﬂdﬂ“:l}‘_
iR, [ |39 <lgls ol T
I =7 = |
5 E
Fl B
SBL-204,0PT-205 SBL-206,208,210,212,215 8 i ] E1
B
> >Specifications
N?Jr:;;r MODEL Nose Ofspindle | A o (r% D £ E1 ? G - H1 ! ) £ L
701100 SBL-204 - 110 | 59 85 - b b 4 e 70.6 - - 26 [(4-M10x1.5P| --
701102 SBL-205 Az-4 135 | 60 | 110 | 63.513 20 - 4 96 82.6 PCD@118 |4-M8x1.25P| 33 [4-M10x1.5P[ 15
701104 SBL-206 Az-5 169 81 140 | 82.563 15 - 5 116 | 104.8 PCD@145 |6-M10x1.5P| 45 [6-M10x1.5P| 16
701106 SBL-208 Ae-6(Ae-5) | 210 | 91 170 [ 106.375| 17 23 5 150 | 133.4 PCD@180 [6-M10x1.5P| 52 [6-M12x1.75P| 18
701108 SBL-210 Ae-8(Ae-6) | 254 | 100 | 220 | 139.719| 18 28 5 190 | 171.4 PCD@225 |6-M12x1.75P| 75 | 6-M16x2P | 19
701110 SBL-212 Az-8 304 | 110 | 220 | 139.719| 18 - 6 190 | 171.4 PCD@250 |6-M12x1.75P| 91 | 6-M16x2P [ 25
701112 SBL-215 Ae-11(A=-8) | 381 | 133 | 300 | 196.869 | 22 33 6 260 235 PCD@324 |6-M12x1.75P|117.5/6-M20x2.5P| 28
MODEL M| N N Q| B | obe | e | Q R S T U \ w X Y B‘.:%‘r,‘n%?e'?] Rtroder
SBL-204 14 | 23 [203|115] 6.7 | 3.5 |-65| 23 | 10 |175| 2 | M32x1.5P | 12 | 24 | 495]| - 26 10
SBL-205 14 | 26.2]235] 19 | 6 1 -9 | 25| 10| 2 | 2 | M40x1.5P | 12 |31.5| 62 | -- 33 10
SBL-206 20 [32.35(296| 24 | 7 | 11| -1 | 31| 12| 19| 2 M55x2P | 20 | 37 | 73 | -- 45 12
SBL-208 25 |39.1(354| 30 | 10 [145|-1.5]| 35 | 14 | 205 2 M60x2P | 30 | 39 | 95 |104.8) 52 16
SBL-210 30 | 51.5|47.1| 34 | 12 | 85 |-105| 40 | 16 | 25 | 2 M85x2P | 40 | 43 | 110 [133.4| 75 19
SBL-212 30 |616(563| 46 | 12 | 8 | -15| 50 | 21 | 28 | 2 | M100x2P | 50 | 51 | 129 | -- 91 23
SBL-215 43 | 823| 77 | 46 | 13 | 7 | -16 | 62 | 22 [425| 5 | M130x2P | 48 | 66 | 165 |171.4] 117.5 23
wor | fgzts | R | L | e | o, | VG | wewne | SRR | rice
SBL-204 5.4 8000 920 (9) 1930 (19) 155 (1.5) 3.6 SH1036 | @7 ~@110
SBL-205 5.4 7000 1120 (11) 2340 (23) 19 (1.9 6.5 SH1036 | @10 ~@135 8300
SBL-206 5.5 6000 1420 (14) 3770 (37) 18.5 (1.8) 13.1 SH1246 |@13~@169| 9300
SBL-208 7.4 5000 2240 (22) 5710 (56) 17 (1.7) 23.0 SH1552 |@13 ~@210| 10300
SBL-210 8.8 4200 2850 (28) 7440 (73) 18 (1.8) 35.9 SH1875 |@30~@254| 14000
SBL-212 10.6 3300 3670 (36) 9690 (95) 18 (1.8) 56.6 SH2091 |@35~@304| 19300
SBL-215 10.6 2500 4790 (47) | 12130 (119) 17 (1.7) 103.2 SH2511 | @35 ~@381
- MoO1 www.borte.com.cn




| Hollow Power Chucks

3-Jaw High Speed Hollow Power Chucks

>>Dimensions

> >Specifications

N?J::;;r MODEL Nose Of Spindle | A B (r%) D E E1 Fl G H H1 11 H2 12 H3
701200 SB-204 - 110 | 59 85 - - - 4| -- 70.6 - - -- -
701202 SB-205 A2-4 135 | 60 110 | 63.513 20 - 4| 96 | 82.6 | PCDO118 | 3-M8x1.25P - -
701204 SB-206 A2-5 169 | 81 140 | 82.563 15 - 51 116 |104.8| PCD@145 | 6-M10x1.5P - -
701206 SB-208 A2-6(A2-5) | 210 | 91 170 | 106.375( 17 23 51 150 |133.4| PCD@180 | 6-M10x1.5P - -
701208 SB-210 A2-8(A2-6) | 254 | 100 | 220 | 139.719( 18 28 51 190 |171.4| PCD@225 [6-M12x1.75P| -- -
701210 SB-212 A2-8 304 | 110 | 220 | 139.719| 18 - 6| 190 |171.4| PCD@250 |6-M12x1.75P| - -
701202 SB-215 A2-11(A2-8) | 381 | 133 | 300 | 196.869| 22 33 6| 260 | 235 - -- PCD@230 |3-M12x1.75P| PCD@300
701204 SB-218 A2-11(A2-8) | 450 | 133 | 300 | 196.869| 22 33 6| 260 | 235 | PCD@230 |3-M12x1.75P| PCD@300 |4-M10x1.75P| PCD@380
701206 SB-221 A2-15(A2-11)| 530 | 140 | 380 | 285.775| 27 41 6 (330.2(330.2| PCD@300 | 3-M16x2P | PCD@380 | 3-M16x2P | PCD@460
701208 SB-224 A2-20(A2-15)| 610 | 149 | 520 | 412.775| 27 42 6 [463.2|463.6| PCD@350 | 3-M16x2P | PCD@450 | 3-M16x2P | PCD@550
MODEL 13 J K LM NN R | | din | Q[R[S|T] U Vi iw| X
SB-204 - 26 | 3-M10x1.5P - 14 23 20.3| 11.5| 6.7 3.5 -6.5 | 23 [ 10 |17.5| 2 |[M32x1.5P| 12 24 [49.5
SB-205 - 33 |[3-M10x1.5P| 15 14 26.2 | 23.5 19 6 1 -9 25 [ 10 | 20 2 [M40x1.5P| 12 |31.5| 62
SB-206 e 45 [ 6-M10x1.5P | 16 20 |32.35| 29.6 24 7 1 -1 31 12| 19 2 | M55x2P 20 37 73
SB-208 e 52 |6-M12x1.75P| 18 25 39.1| 354 30 10 145 | -1.5 | 35 | 14 |20.5| 2 | M60Ox2P 30 39 95
SB-210 h 75 6-M16x2P 19 30 51.5 | 47.1 34 12 85 |-10.5| 40 | 16 | 25 2 | M85x2P | 40 43 | 110
SB-212 - 91 6-M16x2P 25 30 | 61.6 | 56.3 | 46 12 8 -15 | 50 | 21| 28 | 2 | M100x2P| 50 | 51 | 129
SB-215 (3-M12x1.75P[117.5| 6-M20x2.5P | 28 43 82.3 77 46 13 7.5 -16 62 | 22 |42.5| 5 | M130x2P | 48 66 | 165
SB-218 (4-M10x1.75P| 120 | 6-M20x2.5P | 28 43 | 83.8| 785 78 18 75 | -16 | 62 | 22 425 5 | M130x2P | 48 | 66 | 165
SB-221 3-M16x2P | 180 | 6-M24x3P 33 60 [119.6|114.3| 63.3 [ 21.3 | 10.5| -13 | 65 | 25 [42.5| 5 | M195x2P | 80 |73.5| 180
SB-224 3-M16x2P 205 6-M24x3P 37 60 [134.4|1128.4(87.3|21.3(13.5] -11 65 | 25 |42.5| 5 | M220x3P| 80 |73.5| 180
Thru-Hole | Plunger Max.Pull Max.Grippin : P
g i Il OO I S B vl B T
SB-204| -- 26 10 5.4 8000 1428 (14) 2850 (28) 24 (2.3) 3.8 SH1036 | @7 ~@110
SB-205| -- 33 10 5.4 7000 1730 (17) 3570 (35) 29 (2.8) 6.1 SH1036 |10 ~@135 8000
SB-206| - 45 12 5.5 6000 2140 (21) 5710 (56) 28 (2.7) 12.5 SH1246 |13 ~2169 9000
SB-208|104.8 52 16 7.4 5000 3360 (33) 8360 (82) 26 (2.5) 21.9 SH1552 |@13 ~@210 10000
SB-210(133.4 75 19 8.8 4200 4280 (42) 11010 (108) 27 (2.6) 337 SH1875 |@30 ~@254 14000
SB-212| -- 91 23 10.6 3300 5500 (54) 14380 (141) 27 (2.6) 55.3 SH2091 |@35 ~@304 19300
SB-215(171.4 117.5 23 10.6 2500 7140 (70) 18250 (179) 24.5 (2.4) 106.8 SH2511 |@35 ~@381
SB-218(171.4 120 23 10.6 2000 7140 (70) 18250 (179) 24.5 (2.4) 152 SH2511 |@40 ~@450
SB-221| 235 180 23 10.6 1700 9080 (89) 23760 (233) 31.5 (3.0) 195.2 SH2816 @115 ~@530Q
SB-224(330.2 205 26 12 1400 9080 (89) 23760 (233) 31.5 (3.0) 169.4 SH2816 140 ~©610

www.borte.com.cn . M02



Lathe parts

4-Jaw High Speed Hollow Power Chucks

>>Dimensions

REYEET
VA
3|2 89 s

T K
; )
E.] &
g E | L B —F
>>Specifications
Order
Nl MODEL g‘gisned?ef A | B (§6) D E|E1|F| G | H H1 I J K L
701300 SBS-206 A2-5 169 81 140 | 82.563 | 15 | -- 5 116 |104.8| PCD@145 4-M10x1.5P 45 | 4-M10x1.5P 16
701302 SBS-208 A2-6(A2-5) 210 91 170 | 106.375| 17 | 23 5 150 |133.4| PCD@180 4-M10x1.5P 52 [4-M12x1.75P 18
701304 SBS-210 A2-8(A2-6) 254 | 100 | 220 | 139.719| 18 | 28 5 190 |171.4| PCD@225 | 4-M12x1.75P | 75 4-M16x2P 19
701306 SBS-212 A2-8 304 | 110 | 220 | 139.719| 18 | -- 6 190 (171.4| PCD@250 | 4-M12x1.75P | 91 4-M16x2P 25
701308 SBS-215 | A2-11(A2-8) | 381 | 133 | 300 | 196.869| 22 | 33 6 260 | 235 | PCD@324 | 4-M12x1.75P | 117.5| 4-M20x2.5P 28
- Pl
MODEL M m’;lx. min. m?x. min. ml.?ax. mFi>n. Q R S T Y \% w X Y .[rgi;z:l:r]v%?(le?] Sturg (eer
SBS-206 20 [32.35| 24 24 7 11 -1 31 12 19 2 M55x2P 20 37 73 -- 45 12
SBS-208 25 | 39.1| 30 30 10 | 145]-15] 35 14 | 20.5 2 M60x2P 30 39 95 |104.8 52 16
SBS-210 30 | 51.5| 34 34 12 8.5 |-10.5| 40 16 25 2 M85x2P 40 43 | 110 |133.4 75 19
SBS-212 30 | 61.6| 46 46 12 8 -15 50 21 28 2 M100x2P 50 51 129 | -- 91 23
SBS-215 43 | 82.3| 46 46 13 7.5 | -15 62 22 | 42,5 2 M130x2P | 48 66 | 165 [171.4] 117.5 23
Jaw Stroke d MFaX'Pu“ Max.Gripping Max. Hyd Weigh
! Max.Spee orce Force ax. Hyar. eight | Matching| Gripping Pri
(Diameter) o t 9 rice
MODEL (mm) rp-m(min-1) | kgf (KN) kgf (KN) kgf/cFll'rEnezssure(Mpa) (kg) Cylinder | Range
SBS-206 5.5 4500 1630 (16) 4180 (16) 21 (2.1) 14.2 SH1246 |@22~@169 10600
SBS-208 7.4 3600 2440 (24) 6010 (24) 19 (1.9) 24.5 SH1552 |@25~@210 12000
SBS-210 8.8 3200 3160 31 8050 31 20 (2.0) 38.1 SH1875 |@28~@254 16000
SBS-212 10.6 2500 4080 (40) 10400 (40) 20 (2.0) 60..5 SH2091 |@35~@304 21600
SBS-215 10.6 1800 5400 (53) 13600 (53) 19 (1.9) 1115 SH2511 |@63~@381

www.borte.com.cn



| Hollow Power Chucks

Large Through Hole 3-Jaw High Speed Power Chuck

>>Dimensions

= i
%
al ™ /LJ
= —_
10 <
[ rrar 9 % F
3
i =7
i ':.';_]
[
=
K B 3 &
. . ‘
>>Specifications
Order o C P P
Nmlses MODEL i AlB (h6) D E|F H J K M m’gx. m'\iln. mgx. m?n.max min. QIR|S || v v
701500 SBB-206 A2-5 |170| 81 |140| ©82.563 |20| 5 |PCD@122|52| 6-M10x1.5P | 20 |36.35/33.6|21.1| 9.1 | 7 |-5.1|31|12|23| 2 | M60x2P
701502 SBB-208 A2-6 |215| 91 (170(@106.375|22| 5 |PCD@150|66 | 6-M12x1.75P | 25 [46.6/42.9|26.6( 11.6| 10 [-6.1|35|14|25| 2 | M75x2P
701504 SBB-210 A2-8 |[256|100|220|9139.719|28| 5 |PCD@180| 81 6-M16x2P 30 [54.6/50.1133.1| 13.6(8.5(-10.1 40| 16| 25| 2 [ M90x2P
MODEL Vi w x|y | Bl Ps::rr:;izr Bamace Mar)-(b?r%%d N B Max. Hydr. [ Weight Matching Girpping Price
(mm) (mm) (mm) || (min-1) kgf  (KN) kgf (KN) |kgf/cm2 (Mpa) [ (kg) Cylinder Pange
SBB-206 20 |37.5| 73 |104.8 52 12 5.5 6000 [2200 (21.5)[5900 (58)] 21 (2.1)] 12.3 SH1452S 213~0170
SBB-208 30 |39.5| 80 [133.4 66 16 7.4‘ 5000 |3400 (33) |8800 (86)| 26 (2.5)| 21.7 SH1666S @50~3215
SBB-210 | 40 | 43 | 110{171.4 81 19 8.8 4200 |4300 (42) [11100 (109) 29 (2.8)| 33.6 SH1881S 034~@254

Large Through Hole Super Thin Hollow
Rotary Hydraulic Cylinder

>>Dimensions

1.Super thin & Lightweight:
Super thin outer structure makes the weight
lighter than the traditional rotary cylinders;
meanwhile, the compactness and miniaturization
lower the burden of machines.

2.Large Thru-hole Diameter:
With large open center,gripping range of Bar
stock can be increased.

3.Built-in Check Valve:
With built-in"check valve",work pieces can be
effectively prevented from flying out during
abrupt failure of pressure

>>Specifications

Order
Number moper || AT|RBIT[RCT)CH) DI ET EIT R F1 F2 G| G1 H o | H1[Jg] 91 KK1L1M1NN1PP1Q‘Q1’R1S S1’T T1| U

701600 | SH1452S | 9 |105.5(/180(30(165(140/M6x1P|85| 12-M10x1.5P | 6-M8x1.25P |70| 110.2 |M60x2P|120|52| 83 (40(|46|15|55| 73 | 85| 96 | 4 [101.8|M6x1P|7.3|137| PT1/2 [130| 4 |152

701602 SH1666S | 9 |116.5(209]35[190[168 M6x1P|95]12-M12x1.75P| 6-M10x1.5P |85| 121.2|M75x2P(145/66| 99 [40(46(15|70( 88 [100|111| 4 (116.8/M6x1P|7.3[161| PT1/2 [150 5 (166

701604 | ¢\11aaqc [10-]130-5(222| 35205168 M6x1P|11012-M12x1.75P| 6-M10x1.5P [100 136 |M90x2P| 166|81/107.540|46|15|85/103|113|126| 4 |131.8|M6x1P|7.3|176| PT1/2[175 5 |186

Piston Max. Piston Dia Piston Area(cm2) Max.Operating Force Weight
V|V |WwW W Stroke Speed GD2, | Max.Pressure PushSide  Pull Side
u1 / w1 | X1 |z om dmim|  (mm)  [(kg.m?)|QiLeakageRatelgi/cm2 ( M ! ’ (kg) X
MODEL max.|min max min (mm r.p.m. (min (o) gffcm2 (Mpa | push Side Pull Side kaf (KN kgf  (KN) Price

SH1452s |183| 17 | -3 | 45 |M58x1.5P | 25 [55.8|5 20 6500 145 0.035 39 (40 (3.9) 135 124 |4860 (7.6) 4464 (43.7)| 12.3

SH1666S |211| 19 | -3 | 47 | M74x1.5P| 25 (71.8|5 22 5600 165 0.07 4 40 (3.9)| 168 155 |6048(59.3) 5580 (54.7)| 17.4

SH1881S |226| 21 | .4 | 50 | M89x2P | 25 |85.8|5 25 4800 180 0.09 4.3 40 (3.9)| 189 174 |6804 (66.7) 6264 (61.4)| 21.9

www.borte.com.cn . MO04



Lathe parts Hollow Rotary Hydraulic Cylinders

Super High Speed Hollow Rotary Hydraulic Cylinders

>>Dimensions

6-E1 i
wi - 1
2%z E[ X e
. R ——
H
PT1 jE B ﬁ %t
L. PT1-144" " ||| a0
- G1
P2816
>>Specifications
orger MODEL A1 | B1 C ¢t | b |Dl|E E1 F F1 F12 | G| G1 H Jo[a| k| k1|
701400 SH0928 | 9 | 109 | 120 | 25 [ 100 | - | 80 |8-M5x0.8P| 60 |6-M8x1.25P| -~ 45| 114 | M38x1.5P| 28 | 60 | 25 | 46 | 15
701402 sH1036 | 11 | 120 | 136 | 25 [ 115 | -- | 100 [6-M5x0.8P| 65 [6-Mm10x1.5P -- 48| 126 | M42x1.5P| 36 | 68 | 32 | 46 | 15
701404 SH1246 12 [126.5| 155 30 130 | == | 100 | 6-M6x1P | 80 [12-M10x1.5P|  -- 65| 134 | M55x2P | 46 | 76 | 36 | 46 | 15
701406 SH1552 12 | 136 190 30 170 | -- | 130 | 6-M6x1P | 85 |[12-M10x1.5P| -- 70| 145 | M60x2P | 52 [87.5| 36 | 46 | 15
701408 SH1875 |17.5[1545 | 215 | 35 | 190 | -- | 160 | 6-Mex1P [125[12-M10x1.57] -- 95| 162 | M85x2p | 75 [101] 36 | 46 | 15
701410 SH2091 21 | 168 | 240 35 215 | == | 180 | 6-M6x1P | 140[12-M12x1.758  -- 110| 183 | M100x2P| 91 |110| 36 | 46 | 15
701412 SH2511 | 27 | 191 | 310 | 45 | 275 | -- |230 | 6-M6x1P |166| 12-M16x2P | -~ 140[ 218 | M130x2P [117.5| 135| 40 | 46 | 15
701414 SH2816 | 22 | 201 | 345 | 45 | 298 | 305 | 260 [6-M8x1.258 -~ [12-mM12x1.75¢(12-M16x2pP[ 190 229 | M175x3P [166.5]180] 50 | 60 | 15
wobel | M [ M1 N[ NT| P |P1]Q Q1 RIS | st | T[T U | Ul Yulminlmy | w1 [ W1 xi
SH0928 |34.6| 34 | 44 | 53 59 4 | 64.84-M4x0.7P(PCD@76)| 5 [ 95 | PT/4|105| 4 | 159 |137|9.05|-0.95| 33.95|M34x1.5P[23.95( 31.8
SH1036 |44.6| 38 | 55 64 73 6 80 |4-M5x0.8P(PCD@88)| 5 | 105|PT3/8/115| 6 | 179 |154| 10 | -5 39 |M44x1.5P 24 | 42
SH1246 |52.9| 50 64 76 85 4 90 |4-M5x0.8P(PCD@98)| 6 | 116|PT1/2/ 115 6 | 184 [172| 10 | -5 40 |M52x1.5P 25 50
SH1552 [59.6| 55 ( 73 85 96 4 102 | 4-M6x1P(PCD@110) | 7 | 135(PT1/2[130| 6 | 196|210| 17 | -5 | 47 |M58x1.5P 25 56
SH1875 |84.6| 80 | 98 | 108 | 121 4 131 [ 4-M6x1P(PCD@155) | 7 [ 164|PT1/2/160| 4 | 230|235| 20 | -5 50 | M84x2P | 25 81
SH2091 |99.6| 95 | 108| 120 | 138 | 4 147 | 4-M6x1P(PCD@165) | 7 | 180 (PT1/2/185| 6 | 253 |260| 25 | -5 55 | M99x2P | 25 | 96
SH2511 |134.6 125 | 148 | 160 | 178 5 184 | 4-M6x1P(PCD@206) | 7 | 230 (PT1/2/210| 7 | 304|302| 24 | -6 55 |M134x2P| 25 | 130
SH2816 | 185|171.5 210 | 224 | 244 5 250 | 6-M6x1P(PCD@275) | 7 | 316 |(PT3/4R62.9 -- | 308 | - | 24 | -6 65 [ M185x3P| 35 | 180
. 7 | Bistn | Maxspeed| Piston (kGI.Dniz Lea%ge Max. Piston Area(cm2) Max. Operating Force ek .
(min) [-p-m(min-T}Dia(mm} {9 atg Pressure | o ot bish Push Side Pull Side k) Price
(/min) | kgf/cm2(Mpa)| RYgD  Rush kgf  (KN) kaf  (KN) g
SH0928 | 5 10 8000 90 0.008 | 3.0 40 (3.9) 54 475 2000 (19.6) 1750  (17.2)
SH1036 | 5 15 8000 105 | 0.012 | 3.0 40 (3.9) 70 68 2500  (24.5) 2400  (23.5) 9.0 5600
SH1246 | 5 15 7000 125 | 0.019 | 3.0 40 (3.9) 100 89 3700 (36.2) 3200 (31.3) 11.9 6300
SH1552 | 5 22 6200 155 | 0.053 | 3.9 40 (3.9) 160 150 5900 (57.8) 5500  (53.9) 17.3 7300
SH1875 | 5 25 4700 180 | 0.096 | 4.2 40 (3.9) 198 183 7200  (70.5) 6700  (65.6) 26.4 8500
SH2091 | 5 30 3800 205 0.16 45 40 (3.9) 252 235 9200 (90.1) 8600  (84.3) 37.1
SH2511 | 6 30 2800 250 0.5 7.0 40 (3.9) 348 336 12400 (121.5) 12000 (117.6) 63.0
SH2816 | 6 30 2000 280 35 8.4 40 (3.9) 346 332 12200 (119.6) 11800 (115.7) --

- MOS5 www.borte.com.cn



| Pull Back Power Chucks

Pull Back Power Chucks

>>Dimensions

Pull back feature of radial gripping will lead to
almost no work piece uplifting displacement; Pull

Back Power Chucks are ideal for machining

casting and forging parts;

1.By appressing the gripped work piece to the
surface, Pull Back Power Chucks
are suitable for heavy machining.

2.Chuck Actuators with cylindrical structure are
durable and ensures high gripping repeatability.

3.Accurate self-centering and pull back features are
adequate for precise length control machining
requirements.

4.0ptional components can be selected for detecting
the right position on an automated loading

machine.
>>Specifications
Orde G )
Number MODEL & : C D E F e w2 H i .
701700 SPL-06 169 83 140 82.563 15 5 15 5 70 46 36
701702 SPL-08 210 97 170 | 106.375| 17 5 16.5 6.5 84 57 47
701704 SPL-10 254 110 220 | 139.719| 18 5 22 6 100 68 52
701706 SPL-12 304 125 220 | 139.719| 18 5 21.5 5.5 120 72.5 56.5
N P
MODEL I K L M max. min. max. min. Q R
SPL-06 6-M10x1.5P 14 104.8 56.65 54 33 23 35 32
SPL-08 26 6-M12x1.75P 17 133.4 69.65 67 38 28 40 38
SPL-10 32 6-M16x2P 24 171.4 87.8 82 48 32 50 50
SPL-12 36 6-M16x2P 20 171.4 102.8 97 47 31 60 52
Max.Pull Force
MODEL S U Plunger Stroke Jaw Stoke Max.Speed kgf (KN)
(mm) [Diameter](mm) r.p.m(min-1)
SPL-06 36 M16x2P 10 5.3 3500 1326 (13)
SPL-08 36 M20x2.5P 10 5.3 3000 2142 21
SPL-10 46 M24x3P 16 11.6 2500 3060 (30)
SPL-12 50 M27x3P 16 1.6 2000 4386 (43)
Max. Gripping . .
Max. Hydr. i ; Girpping ;
MODEL Force y Weight Matchin
kgf (KN) kgf/cm? (Mpa) (kg) Cylinderg Pange Price
SPL-06 2958 (29) 22 (2.2) 13.8 J-Y1020 @35~3160
SPL-08 4896 (48) 22 (2.2) 27.8 J-Y1225 240~2210
SPL-10 4998 (49) 30 (2.9) 459 J-Y1225 @50~@254
SPL-12 7242 1) 30 (2.9) 75.7 J-Y1530 @50~@304
www.borte.com.cn

- MO06



Lathe parts

2-JAW Solid Power Chucks

>>Dimensions

>>Specifications

Order C

Number MODEL S A B (h6) D E E1 F G H J
702100 JNL-06 A2-5 165 74 140 82.563 15 - 5 116 104.8 21
702102 JNL-08 A2-6(A2-5) 210 85 170 106.375 17 23 5 150 133.4 25
702104 JNL-10 A2-8(A2-6) 254 89 220 139.719 18 28 5 190 171.4 34
702106 JNL-12 A2-8 304 106 220 139.719 18 - 6 190 171.4 34

N N 0 P P

MODEL K L M max. min. max. m(?n. max. | min. Q i S
JNL-06 6-M10x1.5P 14 20 37.8 33.25 15.1 9.1 101.5| 81.5 31 12 36
JNL-08 6-M12x1.75P 18 25 46.3 41.9 22.1 10.1 127 106 35 14 36
JNL-10 6-M16x2P 25 30 51.4 47 30.6 9.6 158 133 40 16 36
JNL-12 6-M16x2P 25 30 60.7 55.45 48.6 12.6 163 133 50 18 36
MODEL T U Vv w X Y Plunger Stroke Jaw Stoke Max.Speed

(mm) [Diameter](mm)| r.p.m(min-1)
JNL-06 4 M16x2P 34 39 73 - 20 8.5 5000
JNL-08 5 M20x2.5P 38 42 95 104.8 21 8.8 4000
JNL-10 5 M20x2.5P 45 46 110 133.4 25 8.8 3500
JNL-12 5 M20x2.5P 50 54 129 -- 30 10.5 3000
) Max. Gripping N
MODEL Mlélc))(rcpeu” Force Max. Hydr. Weight Matching Girpping Price
kgf (KN) kgf (KN) kgf/cm2  (Mpa) (kg) Cylinder Pange

JNL-06 1220 12) 3460 (34) 17 1.7) 11.1 | J-Y1020(JL1020R) | @9~@165 8300
JNL-08 1630 (16) 4990 (49) 16 (1.6) 21.3 | J-Y1225(0L1225R) | @12~@210 9000
JNL-10 1930 (19) 7140 (70) 19 (1.9) 32.6 | J-y1225(0L1225R) | @15~@254 | 12000
JNL-12 2750 27) 10300 (101) 20 (2.0) 57.0 |J-Y1530(JL1530R) | ¥20~D304 17300

I Mo7 www.borte.com.cn



| Solid Power Chucks

3-JAW Solid Power Chucks

>>Dimensions

>>Specifications

H CL-15,18

a?EF'

Number | MODEL Vgl o E (h6) E|EBT|F| G i J K M
702200 JN-05 A2-4 135 | 55 80 | 63513 | = | = | 7 | - | 100 | - | 3-M8x1.25P | 14 | 14
702202 JN-06 A2-5 165 | 74 140 | 82563 | 15 | - | 5 | 116 |104.8| 21 | 6-M10x1.5P | 14 | 20
702204 JN-08 | A2-6(A2-5) | 210 | 85 170 | 106.375| 17 | 23 | 5 | 150 | 133.4| 25 |6-M12x1.75P| 18 | 25
702206 JN-10 | A2-8(A2-6) | 254 | 89 220 | 139.719| 18 | 28 | 5 | 190 [171.4| 34 | 6-M16x2P | 25 | 30
702208 JN-12 A2-8 304 | 106 | 220 | 139.719| 18 | — | 6 | 190 [171.4| 34 | 6-M16x2P | 25 | 30
702210 JN-15 A2-11 381| 114 | 300 | 196.869 | 22 | -~ | 6 | 260 | 235 | -~ | 6-M20x2.5P | 32 | 43
702212 JN-18 A2-11 450 | 114 | 300 | 196.869 | 22 | -~ | 6 | 260 | 235 | -~ | 6-M20x2.5P | 32 | 43
MODEL m’;lx. m’\iln. mgx. moin. mZx. mpin. Q i S ! v v b . A
JN-05 304 | 27.2 | 171 9.6 9 -6 25 10 35 2 M12x1.75P | 28 31 62 | --
JN-06 37.8 | 33.25] 15.1 9.1 101.5 | 81.5 31 12 36 4 M16x2P 34 39 (73| -
JN-08 46.3 | 41.9 | 221 10.1 127 106 35 14 36 5 M20x2.5P 38 42 | 95 (104.8
JN-10 51.4 47 30.6 9.6 158 133 40 16 36 5 M20x2.5P 45 46 | 110(133.4
JN-12 60.7 | 55.45| 48.6 12.6 163 133 50 18 36 5 M20x2.5P 50 54 (129 --
JN-15 69.05 | 60.97 | 58.05 | 40.05 104 69 62 | 255 | 55 7 M30x3.5P 60 68 |[165| --
JN-18 99.46 | 91.38| 58.05 | 40.05 92 57 62 | 255 | 55 7 M30x3.5P 60 68 |[165| --
BAEED

MODEL | P s s | R Pl e et | eorres s W& "| Matching Cylindef aripping Range  price
JN-05 15 6.4 | 5500 | 800 (7.8) 25 (25 | 25 (25)| 6 J-Y0815 28~0135 | 7400
JN-06 20 8.5 5000 | 1730  (17) 25 (25) | 25 (2.5) | 11.4 | J-Y1020(L1020R) | @18~@165| 8000
JN-08 21 8.8 4600 | 2440 (24) 25 (2.5) | 25 (25) | 21.9 | J-Y12250L1225R) | @12~@210 | 9000
JN-10 25 8.8 | 4000 | 2850  (28) 29 (2.8) | 29  (2.8) | 33.4 | s-v12250L1225R) | @16~@254 | 12600
JN-12 30 10.5 | 3200 | 4080 (40) 29 (2.8) | 29  (2.8) | 58.5 | J-Y1530(L1530R) | @18~@304 | 17300
JN-15 35 16 3000 | 8260  (81) 32 (3.1) | 32 (3.1) | 100.6 | J-Y2035(JL2035R) | @68~@381

JN-18 35 16 2700 | 8260  (81) 32 (371 | 32 (3.1) | 134.3 | s-v2035JL2035R) |@100~@450

www.borte.com.cn M08



Solid Rotary Hydraulic Cylinder

>>Dimensions

/ ) /é T“\\\ @
{ 1 ks
AN
ke e ¥

N g y

>>Specifications

Sa—— A B © D E(h7) F G(H8) H J K L
702300 J-Y0815 75 15 15 90 65 30 21 M20x2.5P 35 137 72
702302 J-¥1020 105 20 135 100 80 30 21 M20x2.5P 35 155 72
702304 J-Y1225 125 25 160 130 110 35 25 M24x3P 45 163 72
702306 J-Y1530 150 30 190 130 110 45 31 M30x3.5P 45 173 72
702308 J-Y2035 200 35 245 145 120 55 37 M36x4P 60 191.5 72

p p Piston Stroke Max.Speed
MODEL M N max. min Q R (mm) r.p.m. (min)

J-Y0815 65 97 46 31 6-M8x1.25P 102 15 6000

J-Y1020 83 115 45 25 6-M10x1.5P 120 20 5500

J-Y1225 91 123 51 26 6-M12x1.75P 128 25 5500

J-Y1530 101 133 56 26 12-M12x1.75P 138 30 4000

J-Y2035 119.5 | 151.5 69 34 12-M16x2P 156.5 35 4000

QilLeakage Max.Pressure Piston Area(cm2) Max.Operating Force Weight
MODEL | (KaTe?) (&'ﬁtien) ez (e ] Push Side Pull Side kot (KN (ko) Price

J-YO0815 | o.01 0.8 40 (3.9) 435 36.5 1600 (15.7) 4.2 1850

J-Y1020 | o.04 0.8 40 (3.9) 85.5 78.5 3200 (31.4) 5.9 2150

J-Y1225 | 0.09 0.8 40 (3.9) 121.5 112 4600 (43.7) 8.1 2500

J-Y1530 | 0.19 0.8 40 (3.9) 175.5 159.5 6500 (63.7) 11.9 2500

J-Y2035 | 039 0.8 40 (3.9) 312.5 288.5 11800(115.6) 21.4 3300

- MO09 www.borte.com.cn



Solid Rotary Hydraulic Cylinder

Solid Rotary Hydraulic Cylinder
( Built-in Check Valve)

1.Super thin structure:

Super thin outer structure reduces the

interference with machines and lowers the

burden of machines

2.Built-in Check Valve:

With built-in"check valve",work pieces can be
effectively prevented from flying out during abrupt

>>Dimensions

failure of pressure.

>>Specifications

Number | ODEL A B ¢ D ) Pl e A ) K t
702400 | JL1020R 105 20 135 100 80 30 21 M20x2.5P 35 172 86
702402 | JL1225R 125 25 160 130 110 35 25 M24x3P 45 180 86
702404 | JL1530R 150 30 190 130 110 45 31 M30x3.5P 45 189 84
702406 | JL2035R 200 35 245 145 120 55 37 M36x4P 60 206.5 83
MEBEL M N P P Q R Piston Stroke Max. Speed
max. min. (mm) r.p.m(min-1)
JL1020R 86 132 45 25 6-M10x1.5P 137 20 6000
JL1225R 94 140 51 26 6-M12x1.75P 145 25 6000
JL1530R 105 149 56 26 12-M12x1.75P 154 30 5500
JL2035R 123.5 166.5 69 34 12-M16x2P 171.5 35 5500
MODEL (k%PrT%Z) Oil Leakage Rate Max.Pressure PR E) Max.Push Force V}/keif)]t Price
Vmin) kgf/cm2  (Mpa) |pushside Puliside | _kof (Kn) ’
JL1020R 0.013 0.8 40 (3.9) 86 79 3200 (31.4) 6.6
JL1225R 0.023 0.8 40 (3.9) 122 113 4600 (45.1) 8.8
JL1530R 0.048 0.8 40 (3.9) 176 160 6500 (63.7) 12.8
JL2035R 0.098 0.8 40 (3.9) 314 290 11800 (115.6) 22.5
www.borte.com.cn - M10



Lathe parts

2ACTUATING AXES SELF-CENTERING
SOLID AIR CHUCK FIXTURES

2 actuating axes self-centering solid air chuck fixtures

is great for machining center. Two pairs of jaws clamp
one after another to assure a workpiece to be locked

completely.

1.Rust-proof for Pneumatic Cylinder:
Inside wall of cylinder being rustproof treated; cylinder can

>>Dimensions work under wet or high moisture ciroumstances without

K_ . rusty or seized trouble.
.’_l_s*,l_i 2.Dusts-proof and Waterproot:
go Dust-proof and Waterproof structure prevents work-chips
and coolant water from entering into inside of chuck
cylinder to maintain its accuracy and lead to longer service

\
o
@ /8 ‘

life.
g 3.4-jaw Clamping and Self-centering:
[ 4-jaw clamping are steadier for machining. Two pairs of
‘ jaws are moved independently to assure complete lock and

self-centering.

oB
A

R avis o
S2.pT1/a )} O s
2PTIAA 72 | R - - d

>>QOperation Example

Speed, Accurate, Automatic

4-jaws clamping and self-center

>>Specifications Piston”A"Ciamping Piston"B"Ciamping
Order Number|  MODEL A = D E F G H ! J K L M N
703100 JMA-06 224 175 20 130 170 40 73 20 12 31 18 11 3202
703102 JMA-08 265 210 22 154 196 42 95 25 14 35 18 1" 3243
703104 JMA-10 315 250 25 176 222 46 110 30 16 40 18 13 2285
Apiston Area(cm2)
MODEL 0 ® Q . .
Push Side Pull Side
JMA-06 M10x1.5P(PCD ©202) 4-M8x1.25P(PCD @124) 4-M8x1.25P(PCD @156) 127 108
JMA-08 M10x1.5P(PCD @243) 4-M10x1.5P(PCD @140) 4-M10x1.5P(PCD @186) 184 157
JMA-10 M12x1.75P(PCD @285) 4-M10x1.5P(PCD @176) 4-M10x1.5P(PCD @224) 270 239
Bpiston Area(cm2) Gripping Force:AtAir Pressure Weight
MODEL Plunger Stroke|  Jaw Stoke Y TR (kg) Girpping -
Push Side Pull Side (mm) [Diameter](mm) ¢ (KN) Pange e
JMA-06 122 117 12 5.5 4500 (44) 24.8 @25~@175
JMA-08 176 169 16 7.4 6400 (63) 41.3 @30~@210
JMA-10 254 241 19 8.8 95 (93) 65.6 @35~@250

M1 www.borte.com.cn



| Pneumatic chuck

2/3-JAW Hollow Power Chuck Fixtures

with built-in type cylinder,itis ideal for
machining application on working table.
1.Rust-proof for cylinder :
being rustproof treated;
cylinder can work under wet or high moisture
circumstances without rusty or seized trouble.
2.Dusts-proof and waterproof :
structure prevents
work-chips and coolant water from entering into
inside of chuck cylinder to maintain its accuracy |
and lead to longer service life. .
3.Benefit of Built-in Cylinder: e r
The cylinder is connected to chuck itself directly t_ i i)
for obtaining better stability,less space,and higher
machining efficiency

>>Dimensions

S

b

®=» Split type hand control valve

>> Operation Example

Examples of Attaching
Pneumatic Manual

>>2-JAW Specifications Switch/Optional Accessories Adherent type hand control valve

Order Number MODEL A B C D E F G H | J K L M N (0] P R S
703200 JMOT-04 | 155 | 115 | -- | 15| 77.5 103.59 26 [49.5| 14| 10| 23 | 13 | @9(PCD@135) |PT1/8 M8x1.25P 64 | 47
703202 JMOT-05 | 185 | 135 -- | 15| 95 |128| 33| 62 [14| 10| 25 | 13 | @9(PCD@165) (PT1/4 M8x1.25P | 3-M8x1.25P(PCD@100) | 80 | 47

703204 | JMOT-06 | 224 | 169 | 25 | 16| 118 | 158 40 | 73 |20| 12| 31| 18 |@11(PCDB202) |PT1/4 M10x1.5P | 3-M8x1.25P(PCD@134) | 80 | 47
703206 | JMOT-08 | 265 | 210 | 30 (20| 138 [ 180 42 | 95 | 25| 14| 35| 18 |@11(PCDWD243) |PT1/4 M10x1.5P | 3-M10x1.5P(PCD@136) | 80 | 47
703208 | JMOT-10 | 315 | 254 | 52 | 23| 150 | 196 46 | 110 | 30| 16| 40 | 18 |@13(PCD@285) |PT1/4 M12x1.75P| 3-M12x1.75P(PCD@170) | 80 | 47

s |0 e e | SR RRRSEE wen| c |
(i kgf (KN) |kgf/cm2 (Mpa) kgf (KN)

JMOT-04 i 57 9 3.8 1900 (18.6) 12 (1.2) | 1100 (10.8) 6.9 @9~@115

JMOT-05 - 74 10 5.4 2620 (25.6) 16 (1.6) | 1300 (12.7) 11.2 212~@135

JMOT-06 e 97 12 5.5 4030 (39.5) 16 (1.6) | 2000 (19.6) 21.0 215~0169

JMOT-08 | 3-M10x1.5P(PCD@186) 156 16 7.4 6480 (63.5) 16 (1.6) | 3300 (32.3) 36.8 @20~@210

JMOT-10 | 3-M12x1.75P(PCD@230) 235 19 8.8 9760 (95.6) 16 (1.6) | 4800 (47.0) 56.4 033~0254

>>3-JAW Specifications

orderNumber | MODEL Al B |Cc|D|]E |F|G|H[I|[J]K]|L M N o} P R |S

703300 JMO-04 | 157 | 115 | == | 15|77, 5/ 104| 26 |49.5| 14 (10| 23 | 13 | @9(PCDB135) [PT1/8 M8x1.25P 64 | 47

703302 JMO-05 | 185 | 135 | -- | 15| 95 |128| 33| 62 |14[10| 25 | 13 | @9(PCD@165) |PT1/4] M8x1.25P | 3-M8x1.25P(PCD@100) | 80 | 47

703304 JMO-06 | 224 | 169 | 25 | 16| 118 | 158| 40 | 73 | 20| 12| 31 | 18 |@11(PCD@202) (PT1/4 M10x1.5P | 3-M8x1.25P(PCD@134) | 80 | 47
703306 JMO-08 | 265 | 210 | 30 | 20| 138 | 180| 42 | 95 | 25| 14| 35 | 18 [@11(PCDQD243) |PT1/4 M10x1.5P | 3-M10x1.5P(PCD@136) | 80 | 47
703308 JMO-10 | 315 | 254 | 52 | 23| 150 [196| 46 | 110 | 30| 16| 40 | 18 |@13(PCD@285) [PT1/4 M12x1.75P|3-M12x1.75P(PCD@170)| 80 | 47
703310 JMO-12 | 375 | 304 | 80 | 23| 165 |219| 54 | 129 |30 21| 50 | 18 [@17(PCD@340) |PT3/8] M16x2P |3-M12x1.75P(PCD@200)| 80 | 55

Piston [Plunger |, ciove| Max.Gripping "ﬂ?é‘éyuyrgr' ?Artlwi)r”;?;sc;:cee T oot
MODEL Q Area Stoke |;3W >toke e 7kaf/em2(0 7\ eight ripping
(cm2) | (mm) (D'(%"rs;e' gf/cm2(0.7Mpa)  (kg) Range Price
kgf (KN) |kgf/cm2 (Mpa) kgf (KN)
JMO-04 o 57 9 3.8 2400 (23.5) 15 (1.5)| 1100 (10.8) 7.05 @9~@115
JMO-05 - 74 10 5.4 3285 (32.2) 20 (2.0) | 1300 (12.7) 11.2 ?12~0135
JMO-06 o 97 12 5.5 5040 (49.4) 20 (2.0) | 2000 (19.6) 21.0 ?15~0169
JMO-08 3-M10x1.5P(PCD@186) 156 16 7.4 8100 (79.4) 20 (2.0) | 3300 (32.3) 36.8 @20~2210
JMO-10 3-M12x1.75P(PCD@230) 235 19 8.8 12210 (119.7)| 20 (2.0) | 4800 (47.0) 56.4 @33~0254
JMO-12 3-M12x1.75P(PCD@260) 292 23 10.6 14500 (142.1)| 20 (2.0) | 5100 (50.0) 88.5 @40~3304

www.borte.com.cn ' M12



Lathe parts

2-JAW SUPER PRECISION AIR CHUCK FIXTURES

>> Dimensions

( Dl Mist Infet) @Y 2.PT1A

2PTI4 . - £

Air Supply
Port Far Grip/

- Ungrip)

AirSupply  1-Pre-machined tapped holes and lubrication path:

" Part For Grip/
__Unarip)

There are tapped holes for fixing jigs, thus, additional screw machining is

not necessary, and pre-machined lubrications path can connect to

:

auto-lubrication unit to lubricate the chuck automatically.
2.Built-in Cylinder:
Connect cylinder directly to the chuck for stable gripping.

oD

3.Precise soft jaw positioning:
It's easy to remount soft jaw to the correct position with dowel pins on it.

Al the middle of jaw st

4.High gripping precision brings better quality and efficiency.

Good coaxiality and repeatability of gripping are able to achieve the
accuracy of p degree machining processes can be simplified or

shortened to make high precision machining with high efficiency come true.

MTK-06T MTK-04T

>>Specifications

Order Number MODEL A B C D (h7 E F H w L M M1 M2 M3

703400 JMTKL-04T|146| 17 |50 75/101.6| 18 [12.7|12.7| 80 | 16 | 13 |@09(PCD @130)| 6-M5x0.8P(PCD ©88.9) | 4-M5x0.8P | 6-03.18
703402 JMTKL-06T|200| 18 [39.75[152.4| 26 (12.7|12.7| 81 | 22 | 18 |©@11(PCD @180)|6-M6x1P(PCD ©135.89)| 8-M5x0.8P | 6-03.18

Jaw Stroke - Gripping Force
MODEL T.I.R (Difme;er) Repeatability| PAtAir 7kgf/cm? Weight -
mm ressre (0.7Mpa) i
N T1 Jaw T.I.R o s (kg)
JMTKL-04T| 3-M8x1.25P |2-M5x0.8P(PCD@70)| 0.001 3 0.001 310 (3.1) 6
JMTKL-06T| 4-M10x1.5P | 2-M6x1P(PCD@110) | 0.001 3 0.001 790 (7:8) | 126

3-JAW SUPER PRECISION AIR CHUCK FIXTURES

>> Dimensions

2-PT1/4 PT1/8 2-PT1/4
—-EHa, 13 Air Supply - Air
| Part For Grip/ Oil Mist Inlet) Supply Port
| ungrip) \[ For Grip/Ungrip)
’//é)\%f®\
; ? Y
P

Split type hand control valve

This product reaches the repeatability of” y degree”

>> Operation Example

Examples of Attaching Pneumatic Manual Switch
/Optional Accessories

Order Number MODEL A|B| C D [d(h7)| E FlH|W|[L M M1 M2 M3 N
703500 | JMTK-04T |148(17/|20.75(101.6| 18 |12.7|12.7| 80 | 16 | 13 | B09(PCD @130) | 6-M5x0.8P(PCD ©88.9) | 6-M5x0.8P (9-@3.18|3-M8x1.25P
703502 JMTK-06T |200|18(39.75(152.4| 26 |12.7|12.7| 81 | 22 | 18 | @11(PCD ©180) |6-M6x1P(PCD ©135.89)| 12-M5x0.8P |9-@3.18| 4-M10x1.5P

T.I.R Jaw Stroke GripPing Force
RODEL T1 T2 3 Jawﬁl |.R| (Diameter) (mm) [Repeatability P‘,\;:\S'rre (7(;(9,%%2) Weight Price
o kot (kN | (k9)
JMTK-04T | 3-M5x0.8P(PCD@88.9) 0.001 3 0.001 310 (3.1) | 6.2
JMTK-06T | 3-M6x1P(PCD@135.89) | 3-M6x1P(PCD@110) | 3-M6x1P(PCDB135.89) | ¢ 001 3 0.001 790 (7.8) | 13

M13 www.borte.com.cn



| Pneumatic chuck

2-JAW SUPER PRECISION AIR CHUCK

>> QOperation Example

>> Dimensions

1.Pre-machined tapped holes and lubrication path:
There are tapped holes for fixing jigs, thus, additional screw machining
%’. is not necessary, and pre-machined lubrications path can connect to
% Lt auto-lubrication unit to lubricate the chuck automatically.
& 2.Built-in Cylinder:
; Connect cylinder directly to the chuck for stable gripping.
B 3.Precise soft jaw positioning:
E It's easy to remount soft jaw to the correct position with dowel pins on it.
g 4.High gripping precision brings better quality and efficiency.
Good coaxiality and repeatability of gripping are able to achieve the
accuracy of pdegree machining processes can be simplified or
>> Specifications shortened to make high precision machining with high efficiency come true.
Order Number MODEL A B C D E D1 d (H7) D2 H h L M2
703600 JTKL-04T |20.75| 12.7 | 12.7 |101.6| 30 [82.55| 18 25 | 70.3 | 3.2 | 6-M5x0.8P(PCD @88.9) | 4-M5x0.8P
703602 JTKL-06T |39.75| 12.7 | 12.7 [152.4| 40 [124.97 26 | 34.5|70.3 | 3.2 | 6-M6x1P(PCD©135.89) | 8-M5x0.8P
703604 JTKL-08T |65.75| 254 | - |203.2| 45 [167.64 50 | 50 | 99.5| 7.0 [0-M10x1.5P(PCD 0182.88)4-M10x1.5P
Jaw Stroke T Gripping Force
MODEL M3 1 MT.LR Diameter) (mm Repeatability PAt Air Zé(ngpn;; Max. (Speef; Weight Bt
- ressre (0. r.p.m(min
w Jaw T.LR kgt © Ny | P (<)
JTKL-04T | 6-93.18 16| 2-M5x0.8P(PCD@70) | 0.001 3 0.001 310 (3.1) 3500 4.2
JTKL-06T |6-@3.18 |22| 2-M6x1P(PCD@110) | 0.001 3 0.001 790  (7.8) 3500 9.5
JTKL-08T | 4-@6.36 | 25]2-M8x1.25P(PCD@150)| ¢ 01 3 0.001 1450 (14.3) | 3000 25.1

3-JAW SUPER PRECISION AIR CHUCK

>> Operation Example

>> Dimensions

2
g
G
g
s
@
2 .
E < X “
2 N\
= \/( e S S ) -
ﬂu_t\“/m’ /60/ This product reaches the repeatability of” p degree”
Order Number MODEL A B | C D | E D1 |d(H7) D2 | H | h|W M1 M2 M3 T
703700 JTK-04T |20.75{12.7|12.7|{101.6| 30| 82.55 | 18 | 25 |70.3|3.2| 16| 6-M5x0.8P(PCD @88.9) | 4-M5x0.8P |6-@3.18| 3-M5x0.8P(PCD@88.9)
703702 JTK-06T |39.75(12.7|12.7|152.4{ 40 |124.97| 26 |34.5|70.3(3.2| 22| 6-M6x1P(PCD @135.89) | 8-M5x0.8P |6-@3.18|3-M6x1P(PCD@135.89)
703704 JTK-08T |65.75|25.4| - |203.2|45|167.64| 50 | 50 [99.5|7.0| 25 [6-M10x1.5P(PCD 2182.88) 4-M10x1.5P | 4-26.36 | 3-M8x1.25P(PCD@182.88)
T2 T3 R1|R2|R Jaw Strok ility | Gripping Force
MODEL 3| MT.LR (S‘,»“;mg‘t’ef) Repeatability At Air  7kgf/cm? Max.Spge_:d Weight o
Jaw T.I.R (mm) Prkegsfsre (O(Zm)pa) r.p.m(min (kg) rice
JTK-04T 30° 0.001 3 0.001 310 (3.1) 4500 4.4
JTK-06T 3-M6x1P(PCD@110) |3-M6x1P(PCDZ135.89)| 30930°/45°| 0.001 3 0.001 790 (7.8) 4500 9.8
JTK-08T 3-M8x1.25P(PCD@150) | 3-M8x1.25P(PCD®B150) | 30%30°|30°| 0.001 3 0.001 1450 (14.3) | 4000 26.3

www.borte.com.cn - M14



Lathe parts Pneumatic chuck

3 - JAW AI R c H U c K F I XT U RE S Operation Example for rotary table

>>Dimensions

3MBx1 258 |

TT1 PCD o104
,fu‘{,
| K

>>Specifications

Griopi Weight
order Numberl MODEL | A |B|C| D | E F G | H | 1|J]K|Piston Area| P1UNGer | jaw stoke ,({‘;‘?'r"%igfr/cfmz M3X~5P.e"—:d Gripping | (kg) .
(cm?) S(trOk? [Dl(ame;er] Prfs?e (0.(7Kl\'/|\153a) r.p.m(min-1) Range Price
mm mm g
703800 JMR-04 |117(60|20(3.5| 74 (100.7|26.749.5(14(10/23 57 9 3.8 [1100 (10.8) 3000 |@10~@117| 5.7 | JMR-04
3-JAW AIR CHUCK FIXTUES BULIT-IN 2 CYLINGERS
S G Weight
order Numberl MODEL | A [B{C|D| E| F | G | H|1|J|K|Piston Area| PIUNIET | jawstoke ACATT Tkgf/em? MaxSpeed | Gripping | (ko) :
O 5 e ) Range Prce
703850 JMR-04S|117|60({20|3.5(99.7|126.4(26.749.5[14{10/23| 114 9 3.8 |2200 (21.6) 4500 |@10~@117| 7.2

Rotary Air Check Fixtures

It's Ideal for diving or cutting work pieces bymounting the chuck on indexing table or rotarytable.
The distinctive feaure is that the chuck rotates with the spindle of indexing table orrotary table.
1.Rustproof treated cylinder:
The cylinder won't get rusty and seized even in wet or high moisture working environment.
2.Dust and water proof cover:
prevent metal chips or coolant from entering inside of chuck cylinder to maintain its accuracy
and lead to longer service life.
3.Integral pneumatic cylinder.
Connect chuck and built-in cylinder to each other direchly ;thus enables operation stability.
Moreover,it is more convenient for installation and operation since the use If draw tube and
draw bar are no longer necessary.

>> Dimensions

2-PT1/4-19

>>Qperation Example

'I‘- i — “" ‘ . | Ei

T

FED' J@L Img+1.257/] p |
- G B

RTT RT
>>Specifications

Order Number MODEL A B C|D|E F GIH]I]J|K L M P Thru-Hole(Diameter (CrFPiszt{Jn Area
703900 | JRT-05 |140| 85 | 16 [60| 6 |180|33|62|14|10|25| 6-M8x1.25P | @118 | 27 16 74
703902 | JRT-06 |170| 96 | 20 80| 7 [210| 40|73|20|12| 31| 6-M8x1.25P | @147 | 27 20 120
703904 | JRT-08 |215|112| 30 (110 8 |250| 42|95|25|14|35| 6-M10x1.5P | @185| 28 30 190
703906 | JRT-10 |255|120| 43 {140 8 [290| 46|110{30|16| 40| 6-M10x1.5P | @220 30.5 43 280
703908 | JRT-05T [ 140| 85 | 16 |60| 6 |180| 33 |62(14|10|25| 6-M8x1.25P | @118| 27 16 74
703910 | JRT-06T |170| 93 | 20 (80| 7 [210(40|73|20|12| 31| 6-M8x1.25P | @147 | 27 20 120

Gripping Force (kg)
mopeL | Plunger Stroke Jaw Stroke(Diameter mﬁf{(fnpiﬁﬁc; m?fé&?f&u&; AtA'Ingfressure 7k9f/(cK"'112)(0'7MpﬁrippingRange Weight Price
JRT-05 10 4.6 51 7 (0.7) 1340 (13.1) D4-D136 9.3
JRT-06 13 5.5 41 7 (0.7) 2330 (22.8) ©@25-0166 15.5
JRT-08 16 6.8 33 7 (0.7) 3730 (36.5) ©33-@215 28.5
JRT-10 19 8.0 26 7 (0.7) 5480 (53.7) ©@43-@255 42.3
JRT-05T 10 4.6 51 7 (0.7) 1340 (13.1) D4-2136 9.0
JRT-06T 13 5.5 41 7 (0.7) 2330 (22.8) ©@25-0166 15.0

. M15 www.borte.com.cn



| Thin Chuck

SUPER THIN CHUCK - Dimensions
SUPER THIN CHUCKS e
1.The handle with an angle of 30 degrees in much convenient/ . e

for operations / /s

2.The"super thin thickness"design of chuck increase the
"allowable distance"of machining operation.

3.Chuck flange makes loading and unloading operations
simpler and mors convenlent.

4.Hard jaws and Soft jaws can be used altematively.

Unitimm
0.D.C 1.D.C

OrderNO| Model | A1|A2|B1|B2| c|D|E|F G HlJ |k |L|wm lamping | lamping | Price
(kg) (mm) (mm)

704100 | NBKO6 |220(170( 58 | 18 [ 130|147 45 3-M10x1.5P | 68 | 26 | 40 | 10 | 13 10.6 28~ @160 | @48~@150

704102 | NBK08 |270(210| 65 | 20 | 155[172| 60 3-M10x1.5P | 82 | 28 | 43 | 11| 13 18.1 | @11~@200| @62~@190

(o) BN o) I o) ]

704104 | NBK10 |315(255( 73 | 20 [ 190|210 80 3-M12x1.75P | 93 | 32 | 52 | 12 | 16 279 |@12~@250| @72~ @240

704106 | NBK12 |370(305| 80 | 22 | 250(285|105| 5 | 3-M12x1.75P | 118| 40 | 59 | 14 | 18 42,9 |@15~@300| @86~ @290

SUPER THIN SQUARE CHUCK

>> Dimensions

MC SQUARE CHUCKS

1.MC chucks are precisely ground,the tolerances
of W,X,Y,Z among chuncks are within 0.05mm.

2.Soft jaws can be used altematively for machining
special shaped work pieces,to substitute for
designing and making a lot of jigs for this purpose.

3.The repetitive gripping acccuracy with the hard
jaws are within 0.02mm.

4.parallel gripping accuracy with hard jaws can be
controled within 0.05mm after aligning sides
of chucks.

>> Specifications

0.D.C
NlpPlalrR] s lamping Price
OrderNO| Model | A| B |[C|DJ|E|F G H|J|K|L|M (kg)|  (mm)

704200 MC06 |215| 57 | 18 |130| 40 | 5.5 | 4-M10x1.5P | 68 | 26 | 39 | 14 | 144 {165|144[165| 66 | 18 | 11.4 | ©@4~D128 | @55~ D128

704202 MCO08 |250| 65 | 20 |160| 55 | 6 |4-M12x1.75P| 82| 28 | 43 | 17 | 174|200{174/200| 83| 18 | 18.6 | @5~ @162 | @62~ D162

704204 MC10 |310( 72| 22 ({200| 70| 6 4-M14x2P | 93| 32| 50| 21|218|250(218/250{104| 18 | 31.6 | @6~ @200 | @72~ @200

704206 MC12 |380( 85| 25 |260|100| 7 4-M16x2P |117| 40 | 56 | 23 | 274|310{274|310|135| 22 | 56.6 | @10~ @265| @90~ D265

THIN CHUCK

>> Dimensions

SUPER THIN CHUCKS

1.By the compactness comes from “Light7 ThinJ Short”
Small designing concept; the chucks are most fitting
to hold work pieces for measuring§

2.Just rotate the chuck knob directily for gripping and
Loosening A handle is not necessary to be used§

3.Chuck body is mabe from very durable steel B

4.Jaws can be reversibly usedZEgripping of various sizes
becomes much convenientd

5.2" chucks can evengrip to 0.8mm small.

>>Specifications

ot Unit:mm
Max.Gripping Diameter X
OrderNO.| Model | A | B | c | D | E | F G A0 N S A B P gics

0O.D.Clamping I.D.Clamping

704300 SE02 63 28 | 118 | 100 | 16 4 4-M5x0.8P 27 8 13 8 26 1.2 @0.8~ 063 @23~ @58

704302 SEO03 85 37 | 143 | 116 | 20 4 4-M6x1P 35 11 15 [ 10.5] 32 2.9 @1~ @81 @31~@70

704304 SE04 110 | 39 | 168 | 140 | 26 5 4-M6x1P 42 14 19 10 40 | 4.3 21~@100 @36~ @90

704306 SEO5 130 | 45 | 202 | 168 | 32 6 |4-M8x1.25P | 50 16 21 | 11.5| 49 6.2 21.5~0116 @43~ @106

704308 SE06 160 | 52 | 248 | 208 | 50 8 |[4-M10x1.5P | 65 19 26 15 70 [ 111 21.5~0160 @52~ @148

www.borte.com.cn - M16



Lathe parts

3-JAWS REGULAR TYPE CHUCK 4-JAWS REGULAR TYPE CHUCK

>>Dimensions

FrontMounting  Rear Mounting
RIFLE BRLE
ey P e

Front MountingRear Mounting
RUFLE =E{%:N

>>Specifications

Unit:mm
Cal Max Speed Max.Gripping Diameter brice

Order NO.| Model | A B C D E F G H{J|K]|L (r.p-m)

I.D.Clamping

0O.D.Clamping|

705100 | sco3 85 | 45| 60| 73| 16 | 3.5 3-M6x1P 35(11|115| 7 | 1.5 2500 @2-70 224-64
705102 | sSCo04 112 58 | 80 | 95 | 24 | 45| 3-M8x1.25P |42 14| 17| 8 | 3.3 2500 ©3-90 032-84
705104 | SCoO5 132| 60 | 100| 115| 32 | 45| 3-M8x1.25P |50 (16| 20| 8 | 4.6 2500 23-110 @35-110
705106 | SCO06 167| 66 | 130| 147| 45| 5 3-M10x1.5P | 65| 19|23 |10| 7.9 2000 @4-160 248-150
705108 | sCo07 193| 76 | 155|172| 58 | 5 3-M10x1.5P | 75|22 (28| 11]12.0 2000 @4-180 @56-170
705110 | sSCo08 103| 76 | 160|176| 58 | 5 3-M10x1.5P | 75| 22|28 | 11]13.3 2000 24-180 @56-170
705112 | SCo09 133| 84 [ 190|210| 70 | 5.5 | 3-M12x1.75P | 85| 24 (34.5| 12 | 19.3 2000 @5-220 262-210
705114 | sC10 273| 86 | 230|250| 89 | 5.5 | 3-M12x1.75P | 98 | 28 | 39 | 12| 26.2 1800 ©6-260 @70-250
705116 | SC12 310| 96 | 260 285|105| 7 | 3-M12x1.75P [110| 30| 44 | 14| 37.6 1800 ©10-300 286-290
705118 | SC16 |405|122|345|375|160| 8 3-M14x2P | 146| 40 | 56 | 15 | 80.7 1500 ©14-400 2100-380

4-JAWS REGULARTYPE CHUCK Unit:mm

Max.Gripping Diameter

OrderNO.| Model | A | B | c|D|E | F G o | k| L |k M(:),;',Sr;]p)%d Price
0.D.Clamping]| I.D.Clamping

705200 | PSO07 193| 76 | 155|172 | 58 5 3-M10x1.5P | 75| 22|28 11| 12.1 2000 24-180 @56-170

705202 | PS09 |233] 84 [ 190|210] 70 | 5.5 | 3-M12x1.75P | 85 | 24 [34.5] 12]19.4] 2000 @5-220 ?62-210

705204 | PS12 310| 96 |260| 285|105 7 | 3-M12x1.75P [110] 30 | 45| 14| 38.1 1800 @10-300 @86-290

705206 PS16 405( 122|345 375|160| 8 3-M14x2P 146| 40| 56 | 15| 82.4 1500 @14-400 @100-280

6-JAWS AWL TYPE CHUCK 8-JAWS AWL
TYPE CHUCK

>> Dimensions

Front Mounting Rear Mounting
k|
>> Specifications
«a) e Max.Gripping Diamete '
OrderNOJModel| A | B | C | D | E | F G HiJ k| L|[Y] (rpm Price
0.D.Clamping
705300 |[AS04 | 112| 58 | 80 | 95 | 32 | 45| 3-M8x1.25P (45| 14| 46| 8 | 3.8 1200 @2-32
705302 | ASO6 | 167 | 65 |130|147| 60 | 5 | 3-M10x1.5P | 66| 19| 43| 10| 8.4 1200 @4-60
8-JAWS AWL TYPE CHUCK Unitem
) e e Max.Gripping Diamete '
OrderNO/ Modell A | B | C | D | E | F G HiJ k| L|[Y] (rpm) Price
0.D.Clamping
705400 | AEO9 | 233| 84 | 190|210|100| 5.5 |4-M12x1.75P | 85| 24 | 60 | 12| 21 1000 @7-100

M17 www.borte.com.cn



3-JAWS

Front Mounting

Rear Mounting
a

POWERFUL TYPE o
>>Dimensions
>>Specifications Unit:mm
Max.Gripping Diameter i
Order NOJ Model | A | B |cC|D| E | F G nnren (rp.m) : HAE ; Price
(kg) 0O.D.Clamping I.D.Clamping
(mm) (mm)
705500 | SKO6 (167 66(130147| 45| 5 |3-M10x1.5P |68|26/ 39 (10| 8.6 2000 @8-160 ©55-150
705502 | SKO7 (193 76|155/172 58| 5 |3-M10x1.5P |82|28| 43 (11/12.8| 2000 @8-1800 ©62-170
705504 | SK08 |203/76(160/176/ 58 | 5 [3-M10x1.5P [82(28| 43 |11{14.1] 2000 @8-180 262-170
705506 | SKO9 (2331 84(190210 70|5.5(3-M12x1.75P|93|32| 50 (12|20.4| 2000 @211-220 @70-210
705508 | SK10 (2731 86(230250/ 89 | 5.5(3-M12x1.75P|93|32| 50 (12|26.7| 1800 @12-260 ©80-250
705510 | SK12 |310 96(260285105| 7 [{3-M12x1.75P[11840| 56 |14(39.3| 1800 @15-300 ©90-290
705512 | SK16 |405[1223451375/160(8.5| 6-M14x2P [15045(75.515(82.3| 1500 @30-400 ©@110-380
3-JAWS A1 TYPE CHUCK
>>Dimensions
>>Specifications Unit:mm
Max. Max.Gripping Diameter
Speed Price
Order NQ. Model| A| B | C D |E F G H| | |J|K[L| P M| N (kg)| (r.p.m)
0O.D.Clamping I.D.Clamping
705600 | A,5-08" [200| 83 [33.5 |61.9 [40|@104.8 | 3-M10x1.5P |82|82.563|28|43[11|14.29| @16.3 |6.8]17.4| 2000 @8-180 @62-170
705602 | A,6-08" [200| 83 [33.5(82.6 [56/@133.4 | 3-M12x1.75P |82[106.37928(43|11|15.88| 319.3 [6.8| 30 | 2000 @11-220 @70-210
705604 | A,6-10" [255(91.5 [36.5 [82.6 |56/@133.4 | 3-M12x1.75P |93[106.37932|50(12(15.88| ©19.3 |6.8(30.6| 1800 ©15-300 ©90-290
Please specify "front" or "back” when ordering”
POWERFUL Front Mounting Rear Mounting
4-JAWS
SCROLLTYPE
>>Specifications o
Max.
Speed Max.Gripping Diameter i
Order NOJ Model[A |B|C|D|E | F G HIJ|K([L (r.p.m) saliBE . ik
(kg) 0.D.Clamping I.D.Clamping
(mm) (mm)
705700 | PSKO7 |193| 76 [155(172| 58 | 5 | 3-M10x1.5P |82|28| 43 [11[12.7| 2000 @8-180 62-170
705702 | PSK09 |233| 84 [190|210| 70 | 5 | 3-M12x1.75P |94 32| 50 |12|20.8| 2000 211-220 @70-210
705704 | PSK12 |310| 96 | 260|285 105 7 | 3-M12x1.75P [118[40| 56 14| 49 | 1800 @15-300 @90-290
705706 | PSK16 |405|122|345(375| 160 8.5 | 6-M14x2P  |150(45|75.5(15| 86.7| 1500 230-400 ©110-380
POWERSOFT JAWS Please specify "front" or "back" when ordering”
Weight(kg) | Price
Order NO. MODEL A B c D B F G H J K L M M
705800 [SO06Jaw 73 37 26 38.1 | 12.68 | 7.94 M8x1.25P 17.45 14 3.5 3 25 9 1.3
705802 (SO07 Jaw 95 48 31 44.4 | 12.68 | 7.94 M10x1.5P 25.3 17 3.8 3 34 11 2.6
705804 |SO09Jaw | 110 | 48 37 54 |19.03 | 12.7 | M12x1.75P | 28 19 4.2 3 34 13 3.6
705806 |SO12Jaw | 125 | 54 42 | 63.5 | 19.03 | 12.7 | M12x1.75P |30.75| 19 4.2 3 38 13 5.5
705808 |SO16Jaw | 160 70 50 76.2 | 19.03 | 12.7 M16x2P 41.9 25 5.5 3 48 17 10.4

www.borte.com.cn

M18



Lathe parts

2-JAW STEEL BODY CHUCKS

>>Dimensions

>> |llustrate

>> Specifications

1.Can be used as a “Forming plate” for mach soft jaws.

2.Hard jaws and soft jaws can be adjusted just like on a power Chuck to increase the gripping
3.Hard jaws as well as Soft jaws are interchangeable with those of power chuck

4.Chuck Body is made of steel to enhance sa operations for high speed machining

5.The Chuck Handle can be operated easily smoothly

The chunk can be used
as a *Forming pate " for
machining sot jaws.

Top jaws can be adjusted
back and forth easily, thus
increasing gripping range

Hard jaws are interchangeable
with those of power chucks.

Softjaws are interchangeable  Optional accessory:
with those of power chucks.  Mounting plate

Max. Gripping Diameter
. Weight(k
I[\/lpal)fr;?rlr)‘eizﬁ—(wjO.D.Clamping(mm)-D-Cla""lPlng("’""" ght(kg) Price
Order Number MODEL A B C D E F © H ) K L M R o[Pa
706100 TNT-07 193| 78 [155/172| 58 | 5 | 3-M10x1.5P | 73 | 31|38 | 11| 20 | 12 3200 28~@235 266~0235 14.4
706102 TNT-09 |233|85(190({210| 70 |5.5|3-M12x1.75P| 95 | 35 | 40 | 12| 25 | 14 2800 @11~2280 @85~3280 22.3
Max. Gripping Diameter
; Weight(k .
:"'ar’;?ﬁ]?ﬁ,ﬁ’ 0.D.Clamping(mm) I.D.Clamping(mm ght(kg Price
Order Number MODEL AlB|lc|DI|E F G H J K L{M|R -P-
706200 NT-07 193] 78 |155|172| 58 | 5 3-M10x1.5P | 78 | 28 | 48 | 11 | 20|12 3200 8~0235 066~3235 13.1
706202 NT-09 233| 85(190(210| 70 | 5.5| 3-M12x1.75P | 92 [ 32 | 52 | 12 | 25|14 2800 211~2280 285~3280 21.2
706204 NT-10 [273| 91 |230(250| 89 | 5.5| 3-M12x1.75P [101.9 37 [ 56 | 12 | 30| 16| 2400 212~@330 292~2330 30.5
706206 NT-12  [310(104|260|285[105| 7 | 3-M12x1.75P |[116| 47 | 67 | 14 | 30| 21 2100 315~0370 @104~@370 46.1

3-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS

>>Dimensions

>>Dimensions

>>Specifications

Max. Gripping Diameter
A|B|C|D E| F G H | J K | L M Max.Speed ; .
Order Number MODEL r_;i(n(,%?ﬁ‘ 0.D.Clamping(mm).D.Clamping(mm) W(ilgg)ht Price
706400 CT-06 167(75.5/130(147| 45 | 12 | 3-M10x1.5P | 65 | 22 | 28 | 10 | 3-M12x1.75P| 4000 | @4~@160 ©@48~@150(10.4
706402 CT-07 193] 85 |155[172| 58 | 12 | 3-M10x1.5P | 75 | 24 (28.5| 11 | 3-M12x1.75P| 3500 | @4~@180 @56~@170|12.9
706404 CT-09 233| 92 (190]210| 70 |12.5|3-M12x1.75P| 85 | 28 | 33 | 12 | 3-M12x1.75P| 2900 | ¥5~@8220 ©@62~@210 |20.4
706406 CT-10 275| 98 [230(250| 89 |12.5|3-M12x1.75P| 98 | 30 | 38 | 12 | 3-M12x1.75P| 2500 | 96~2260 @70~@250|29.3
706408 CT-12 310{111(260(285[105| 14 |3-M12x1.75P|110| 32 | 45 | 14 | 3-M12x1.75P| 2200 |@10~@300 @86~@290 |43.7
4-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS >>Specifications
Max. Gripping Diameter
A|B D E| F H K | L M Max.Speed| ; .
Order Number| MODEL ¢ G ! L;),:](ﬁ-.?s" 0.0.Clamping(mm)\.D.Clamping(mm) W(ek'gg)h‘ Price
706500 FCT-07 193| 85 |155[172| 58 | 12 | 3-M10x1.5P | 75 | 24 |28.5| 11 | 3-M12x1.75P| 3500 | @4~2180 @56~@3170 [13.2
706502 FCT-09 233| 92 {190|210| 70 |12.5/3-M12x1.75P| 85 | 28 | 33 | 12 | 3-M12x1.75P| 2900 | @5~@220 @62~@210|20.7
706504 FCT-10 275| 98 [230|250| 89 [12.5/3-M12x1.75P| 98 | 30 | 38 | 12 | 3-M12x1.75P| 2500 | @6~@260 @70~@250|29.8
706506 FCT-12 310(111(260(285[105| 14 |3-M12x1.75P|110| 32 | 45 | 14 | 3-M12x1.75P| 2200 [@10~@300 @86~@290 [44.4
. M19 www.borte.com.cn



>> Dimensions

s
| | a
\2
L2
\E | & =
P L]
>> Specifications
Max. Gripping Diameter
Max.Speed| :
Order Number| MODEL Al BICIDIENF ¢ HiJ Kt M r.;:n(r’:\?:" ool ).D.CI mm) W(ek'glht Price
9
706600 TKT-06 167|75.5/130(147| 45 | 12 | 3-M10x1.5P | 73 | 26 [40.5| 10 | 3-M12x1.75P| 4000 | @4~@160 @48~@150|10.4
706602 TKT-07 193| 85 |155[172| 58 | 12 | 3-M10x1.5P | 95 | 31 [49.5| 11 | 3-M12x1.75P| 3500 | @4~@180 @56~@3170 [14.46
706604 TKT-09 [233| 92 |190(210| 70 [12.5/3-M12x1.75P|110| 37 | 50 | 12 | 3-M12x1.75P| 2900 | @5~@220 @62~3210 |22.4
3-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS
B G
 n—

>>Dimensions

Q| <
L=
1
>> Specifications -
Max. Gripping Diameter
Max.Speed| :
Order Number| MODEL AlBlCID r.;;)riw(%eis" 0.l L.D.Clamp W(i'g)ht Price
g
701670 KT-06 167|75.5/130|147| 45 | 12 | 3-M10x1.5P | 68 | 26 | 40 | 10 | 3-M12x1.75P| 4000 | @8~@160 @55~3150 | 9.7
706702 KT-07 193| 85 |155(172| 58 | 12 | 3-M10x1.5P | 82 | 28 | 43 | 11 | 3-M12x1.75P| 3500 | @8~@180 262~2170 | 13.6
706704 KT-09 233] 92 1190(210| 70 |12.5[3-M12x1.75P| 93 | 32 | 51 | 12 | 3-M12x1.75P| 2900 |@11~@220 @70~@210(21.5
706706 KT-10 275| 98 |230(250]| 89 |12.5[3-M12x1.75P|102| 35 | 54 | 12 | 3-M12x1.75P| 2500 |@12~@260 @80~2250 [30.4
706708 KT-12 310{111]260|285|105| 14 |3-M12x1.75P{118| 40 | 58 | 14 | 3-M12x1.75P| 2200 |@15~@300 @90~@290 [45.4
4-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS
B G
fJ_
P —
|
) ) — 9 B 3
>>Dimensions
.-[]__F
>> Specifications L\
Max. Gripping Diameter
E Max.Speed f n
OrderNumber] MoDEL | A [ B C|P F ¢ HpJ kgt M rpmimin’] 0.0l )LDl mm) ""(ek'g)h‘ Price
g
706800 FKT-07 193| 85 |155(172| 58 | 12 | 3-M10x1.5P | 82 | 28 | 43 | 11 | 3-M12x1.75P| 3500 | @8~@180 ©@62~@170|14.1
706802 FKT-09 233| 92 {190|210| 70 [12.5[3-M12x1.75P| 93 | 32| 51 | 12 | 3-M12x1.75P| 2900 |@11~@220 @70~@210| 22
706804 FKT-10 |275| 98 {230[250| 89 |12.5/3-M12x1.75P|102| 35 | 54 | 12 | 3-M12x1.75P| 2500 |@12~2260 @80~@250 |33-5
706806 FKT-12  [310|111]260[285]105] 14 [3-M12x1.75P[118] 40 | 58 | 14 [ 3-M12x1.75P| 2200 |p15..4300 @90-~@290 |46-1

www.borte.com.cn

- M20



Lathe parts

Hub chuck

E (Made In USA)

The Name to Know in Wheel Chucks—For Passenger Cars,
Light Trucks, Heavy Trucks, Buses& Motorcycles

LMC Workholding is rapidly becoming the marketleader
in workholding for the manufacture of wheels for
passenger cars, light trucks trucks and buses.

LMC is a pratner in the Okuma Wheel Team which
provides the bulk of wheel cell equipment worldwide.
Okuma. LMC. Chiron and Fanuc Robotics make up

the Wheel Team.

18" -
LMC has engineered new wheel chuck technologies to include quick 7
change and lightweight models. Our engineering staff offers years of 16" -
wheel chuck design and implementation experience. 15" -

Years of hydraulic actuator and power chuck experience too.
LMC also offers matching wheel chuck cylinders. Rely on LMC
Worknolding for your wheel production needs.

209. truck and bus wheels up to 24.59

Clamp

Large

Wheel Diameter
N
5]

Small

WTi fits automobile and light truck wheels 149 to

T wrTi-310

b (Passenger Car.
’ Light Truck)

" 2800rpm

" Min.14" Max.20.5"

" us-1420

N (Passenger Car.
N Light Truck)

" 2800rpm
"Min.14" Max.20.5""

Standard and Lightweight Series

This chuck, available in four models. Does it all. The

Draw end position

Swing point

Chuck Diameter

T WTi-322 T US-1524

** (Light Truck. Truck. *** (Light Truck. Truck. =~
Bus) ** Bus)

-+ 2200rpm -+ 2200rpm e

++ Min.15" Max.24.5" - Min.15" Max.24.5" -+

" (Passenger Car.

* Light Truck)

©+ 2800rpm

M5 NX20:57 oo

Optional part detection system. consisting of three

air-activated plungers, senses whether or not the
workpiece is properly seated, an essential

Weight
(Base Chuck Only)

M21

Contact LMC Workholding for the optimum clamping  component for any automatic/robot loaded 450
solution. US Series chucks are lightweight for application. 400 —
increased spindle life and faster cycle times. 350 _ |
300 ]
a 250 —
- 200 [ | | B
150 [ | | | B
100 | | | B
50 | | | B
L 0 US-1420 US-1524 Wti-310 Wti-322
| Rotationallnertia (Base Chuck Only)
\ = 5
\\__/ 4.5
i : —
Part — F 3.5 s =
Detection N3 s =
,‘E 2.5 —
2 o~ — — — -
R 15— B B BN
- — — —
. L . | 05— — — —
Clamp Unclamp 0 - -
US-1420 US-1524 Wti-310 Wti-322
Number whee max : Mount in/mm in/mm
Diameter ( ) (Ibs) (in/mm) (Ibs) ( ) ( )
WTi-310/US-1420 14 t0 20 2800 7700 1.38/35 A2-8 264/160 21.50/546.2 5.90/149.7
WTi-322/US-1524 15t024.5 2200 7700 1.38/35 A2-11 410/240 26.00/660.0 7.85/199.5
Model SS-3/4EX S-3/4EX L-3/4EX XL-3/4EX Z-3/4EX*
Number
E F E F E F E F E F
WTi-310/US-1420 21.5/547  22.4/570 21.5/547  23.0/584  22.0/559  24.1/611 23.1/587 25.0/634  24.3/618 26.2/665
WTi-322/US-1524 26.0/660 26.5/673 26.0/660 27.5/698  26.6/675 28.5/724 27.6/702 29.5/749  28.6/727 30.5/774

www.borte.com.cn



| Wheel Chuck

>>Dimensions >> Specifications

Lean Production Series

Adjusting a cam arm from one wheel diameter to
another in seconds makes this chuck ideal for
aftermarket wheel manufacturers and OEM suppliers
who handle short-run specialty wheels.

Each cam arm handles 6 ranges within 15"to 20 wheel
size capacity. One: Insert wrench. Two: Crank cam
arms to desired diameter. Three: Remove wrench.

The LPS Series for automobiles and light trucks
allows for variations in raw castings as well as for
new “fashion” wheel designs where material is
added to the raw casting for first operation holding.

>>Dimensions

RNW 40

Stroke Detection

N’\ﬂ?ndbeelr CapacityWheelDiameter RPM’ s(max) DrawbarPull(lbs) DrawbarStroke(in/mm)
LPS-1520 15" to 20" 2800 7700 1.38/35

Model SpindleMount  ChuckWeight(lbs) A Dia(in/mm) B Dia(in/mm)
Number
LPS-1520 A2-8 300 29.45/748.0 7.32/186.0

Chuck Actuators

LMC Workholding offers two chuck actuators specifi
cally designed for wheel chuck applications like yours.
These hydraulic cylinders offer optimum hydraulic
system pressure settings for the fastest clamping/
unclamping action available.

And their shorter lengths and lighter weights enhance
lathe acceleration and deceleration while improving
machine dynmics.

2R 120

M20 P1.5x300P.

Recessed 66mm Stroke De

Stroke Detection Clamping Cyhnde}/ M50 P1.5x30DP.

Model 2R 120 is a single-motion cylinder ideal for
applications that use solid mandrels or spring rings
for wheel centering. RNW is a dual-function cylinder
that is ideal for applications that actuate a collet or a
small three-jaw chuck for wheel centering.

tection Clamping Cylinder ME;PLSXSSDP

Centering Cylinder N
= ; e
Air Inlet = .
ttite N >,
4 ﬁggs) Drain Port - (35min} 42max
- e 6-M10x95 7min)
283 190 d;.BC Drain Port -A—\Qn
6-M10x85
150 dia.B.C
>>Specifications
Clamping Cylinder
Model ; A .
Nu?nbeer Length ( mm) Stroke Time(sec) Borex Stroke(mm) Piston Area(in¥/cm?)
2R-120 269 1.6 120%x35 15.8/102
RNW 40 293 2.3(0.4) 146x35 17.21111
Model Centering Cylinder Max. oper. Pressure RPMs Cylinder Weight
Number  BorexStroke(mm) Piston Area(in®/cm?) (b/in*-kgf/cm?) (Max) (Ibs)
s
2R-120 n/a n/a 568/40 5000 33
RNW 40 50%12 1.2/8 568/40 4000 50

www.borte.com.cn

T M22



Lathe parts

AIR FEED TUBE

>>Dimensions

AIR FEED TUBE (FOR GRINGING MACHINES)

= e
L]
I‘B ﬁ% «=ms= [Ex. Fillin 50 for required length of 500mm. > >Dimensions
30mm is optional for the length of 8 fitting:-
Y Longht | Uikt 0mr i | 1] Au:"n Tubs LengtniUn10miny 8
T |
5l e ) =
T 2 i = (B — 3
——— {3 == T | by | —— eSS
swamune EI mw S18°:52 UNF
_ﬂ_"l Y s/ wl i |E0_|_2iLil_' a
>>Specifications >>Specifications
NOrd!e)r Max.Speed | Recommended Lubricant Price NOrdts;-r Max.Speed | Recommended Lubricant Price
umber MODEL umber MODEL
707100 JTB-XX-18 | 8000min" VG6 or Equal| 8000min 8000min™| JTBC-XX-18 | 8000min" VG6 or Equal
707102 JTB-XX-30 | 8000min” VG6 or Equal| 8000min” 8000min”| JTBC-XX-30 | 8000min VG6 or Equal
>> Dimensions
H
ADP-04,06,08 —m ADP-104,106
Eé; al Sr
a-‘ }
5/8'-32UNF Ml/
>> Specifications
Order Number | MODEL D [D1(h7)D2|d1(H7) P1 |H|H1|H2|h1[h2 M1 M2 M3 Price
707200 FLP-04 |101.6/82.55|24|82.55| 25 |38|14|24|3.2|2.5| 6-M5x0.8P (PCD @88.9) 12-M5x0.8P (PCD ©88.9) | 3-@3(PCD 288.9)
707202 | FLP-06 |152.4[124.9724[124.97/34.5|38|14|24(3.2|2.5| 6-M6x1P (PCD©135.89) | 12-M6x1P (PCD @135.89) | 3-04(PCD 0135.89)
707204 | FLP-08 |203.2]167.64/30/167.64] 50 |54|25(29|7.0/5.0 6-M10x1.5P (PCD @182.88) | 6-M10x1.5P (PCD @182.88) | 3-B4(PCD 0182.88)
707206 | FLP-104 |101.6|82.55|24|82.55| 25 |48|24|24[3.2/2.5| 6-M5x0.8P (PCD@88.9) | 12-M5x0.8P (PCD@88.9) | 3-03(PCDO8E.9)
707208 | FLP-106 |152.4(124.97|24(124.9734.5 | 48| 24| 243.2]2.5] 6-M6x1P (PCD @135.89) | 12-M6x1P (PCD@135.89) | >-O3(PCD 013589
>> Dimensions
52
2-P4 O-Ring 83.2 Location Hole ‘ 8
= |
@ AT TN
Y ra - N
=S i X | x’ NoN\es / P ™ ‘\
- . 5 \ \
i3 ‘ L, @Jg ”_\ = e -
! @ S s
: Replal AR
4.8 254 65 /

. ’ p
N v

M23 www.borte.com.cn

PCD 061




Lathe parts

FORMING RINGS
(FORSOFT JAWS
OF SUPER

>>Specifications

>> Dimensions

e s ar

pu
8
2
o
8
o

e phegeDd —f—

N !
~ & -
N~

Order Numbet MODEL A B CID|E|F G H I J K L Welght(kg) Price
707300 JFR-04 | 112 | 80 [22/30/6(21[12.7(12.7|12.7| 6-M5x0.8P |9-@3.175|3-M8x1.25P 1.9
707302| JFR-06| 167 | 130 ([30(30| 6 (40/12.712.7|12.7|12-M5x0.8P | 9-@3.175|3-M10x1.5P 4.3
707304| JFR-08 203 | 160 [54(35| 6 |66 25.4|25.4 - 6-M10x1.5P| 6-@6.35 |3-M10x1.5P 7.2
BAR STOPPER
>> Dimensions
Dimension E:Join to inside diameter of drawtube.
>> Specifications
Max.Speed Matching Cylinder .
Order Number MODEL A B (0] D F G H r.p.m.(min) Stroke Price
707400 JPE-06 76 | 64 | 910 24 W1"-12 9 6-M6x1Px55 3000 350 SH1246
707402 | Jpe-08 | 85| 73 | 1010 | 24 | W1"-12 9 6-M6x1Px65 2400 400 SH1562
707404 JPE-10 | 108 98 | 1310 | 24 W1"-12 9 6-M6x1Px65 2000 400 SH1875
707406 JPE-12 | 120(108| 1310 | 32 M33x2P 9 6-M6x1Px70 1600 400 SH2091
707408 JPE-15 | 160|148 1310 | 32 M33x2P 13 6-M6x1Px75 1200 400 SH2511
www.borte.com.cn

T M24



Lathe parts

Soft Jaw ( SJ-SERIES)For Hydraulic Chucks

>>Dimensions

B B B =
AL WAVAVAY,

80 0"
Pitch 1.5 Sawtooth Pitch 3.0 Sawtooth
Sawtooth
>>Specifications
Order Number|  MODEL 5-1 52 5-3 S:4 5-5 5-6 -7 s-8 $-9 Serration Pitch Weight(kg)| Price
707100 SZ-04 49.5 23 23 10 4.5 10 14 25.5 M8X1.25P 1.5X60° 0.42
707102 SZ-05 62 25 30 10 4.5 10 14 38 M8X1.25P 1.5X60° 0.85 165
707104 SZ-06 73 31 36 12 5 15 20 38 M10X1.5P 1.5X60° 1.5 200
707106 Sz-08 95 35 38 14 5 24 25 46 M12X1.75P 1.5X60° 2.4 250
707108 Sz-10 110 40 42 16 5 30 30 50 M12X1.75P 1.5X60° 3.6 300
707110 SZ-12 129 50 50 21(18) 6 39 30 60 |[M16X2P(M14x2P 1.5X60° 6.1 450
707112 SZ-15 165 62 62 22(25.5) 8(5) 37 43 85 M20X2.5P 1.5X60° 12.5
707114 SZ-18 165 62 62 22(25.5) 8(5) 37 43 85 M20X2.5P 1.5X60° 12.5
707116 Sz-21 180 65 70 25 9 40 60 80 M20X2.5P 3.0X60° 16.2
707118 SZ-24 180 65 70 25 9 40 60 80 M20X2.5P 3.0X60° 16.2
Speclal Soft Jaw
For Hydraulic Chucks
n.
‘.
[ J
TTEe ‘ H | o
E ! " -/
\'_/ ¢ \/
w

5inch Heightening Specifications | 6 inch Heightening Specifications | 8 inch Heightening Specifications | 10inch Heightening Specifications 12 inch Heightening Specifications

Tip
Angl
g Nzi\:jstrer Specifications Price N?JI;:E(rer Specifications Price Nou::\jstrer Specifications Price N?J::;;I’ Specifications Price Nou:\f\js;r Specifications  |Price
60° 1707200 |SZ5C60 185 | 707220 |SZ6C60 220 |707244|SZ8C60 270 |707276 |SZ10C60 340 | 707304|SZ12C60 490
90° [707202|SZ5C90 175 | 707222 |SZ6C90 210 |707246|SZ8C90 260 |707278 |SZ10C90 320 | 707306|SZ12C90 465
120°[707204 |SZ5C120 165 | 707224 |SZ6C120 200 |707248|SZ8C120 250 [707280[SZ10C120 300 | 707308]SZ12C120 450

707206 |SZ5C120H40 300 [ 707226 |SZ6C120H50 |350 |707250|SZ8C120H40 |350 |707282|SZ10C120H50 400 [ 707310|SZ12C120H60 600
707208 |SZ5C120H50 |350 [707228 |SZ6C120H60 |400 |707252|SZ8C120H50 |400 |707284|SZ10C120H60 |450 | 707312|SZ12C120H70 700
707210 |SZ5C120H60 400 [ 707230 |SZ6C120H70 |450 |707254|SZ8C120H60 |450 |707286 |SZ10C120H70 550 | 707314|SZ12C120H80 750
707212 |SZ5C120H70 450 [707232 |SZ6C120H80 | 500 |707256|SZ8C120H70 |500 |707288 |SZ10C120H80 |600 [ 707316|SZ12C120H90 950
707214 |SZ5C120H80 |650 [707234 |SZ6C120H90 |550 |707258|SZ8C120H80 |550 |707290|SZ10C120H90 |700 | 707318|SZ12C120H100 | 1100
,1707216 [SZ5C120H90 [750 | 707236 [SZ6C120H100 |600 |707260|SZ8C120H90 600 |707292 SZ10C120H100 (800 [ 707320|SZ12C120H120 | 1200
120 707218 |SZ5C120H100 |850 707238 |SZ6C120H120 |800 |707262|SZ8C120H100 [700 |707294|SZ10C120H120 |900 | 707322|SZ12C120H150 | 1400
707240 |SZ6C120H130 | 900 |707264|SZ8C120H120 |750 |707296 |SZ10C120H140 | 1000
707242 |SZ6C120H150 |1000{707266|SZ8C120H130 [800 |707298 |[SZ10C120H150 [1150
707268 | SZ8C120H140 |900 |707300[SZ10C120H180 |1600
707270 |SZ8C120H150 [1000/707302 |SZ10C120H200 |1800
707272 |S7Z8C120H180 |1400
707274 |S7Z8C120H200 [1650

M25 www.borte.com.cn



| Raw claw/ hard claws for Lathe

Hard Jaw ( HJ-SERIES)For Hydraulic Chucks

>>Dimensions

DO !

N
N\ 1

>>Specifications

(¢

=2

DOE@
H-7 lH-?

H-1 -
gL HE |

-

%

]

FIG. 2

Order Number|  MODEL A | W2 | RS = 75 WG || =77 | 178 || T2 R=IE Serration Pitch| Weight(kg) Reference Drawing Price
707400 YZ4C 53 23 28 10 4 29 14 24 10 M8x1.25P 1.5X60° 0.4 Fig.2
707402 YZ5C 53 23 28 10 4 29 14 24 10 M8x1.25P 1.5X60° 0.4 Fig.2 1900
707404 YZe6C 67 31 36 12 5 39 20 28 12 M10x1.5P 1.5X60° 0.95 Fig.2 2100
707406 YZ8C 87 35 51 14 5 29.5 25 18 12 M12x1.75P 1.5X60° 1.9 Fig.1 2400
707408 Yz10C 101 40 54 16 5 45.5 30 18 13 M12x1.75P 1.5X60° 2.8 Fig.1 3000
707410 Yz12C 108 50 67 21(18) 4(5) 49 30 20 16 |[M16x2P(M14x2P 1.5X60° 3.5 Fig.1
707412 YZ15C 143 62 86 |22(25.5)| 8(5) 55 43 38 20 M20x2.5P 1.5X60° 9.5 Fig.1
707414 YZ18C 143 62 86 |22(25.5)| 8(5) 55 43 38 20 M20x2.5P 1.5X60° 9.5 Fig.1
707416 YZ21C 159.5| 80 90 25 9 97.5 50 62 40 M20x2.5P 3X60° 15.3 Fig.2
707418 YZ24C 159.5| 80 90 25 9 97.5 50 62 40 M20x2.5P 3X60° 15.3 Fig.2

SOFT JAWS FOR PULL BACK POWER CHUCKS

>>Dimensions

www.borte.com.cn

" M26



Lathe parts MOUNTING PLATES

MOUNTING PLATES - Dimensions _
g =l i S
Mounting plates are available to any I ||
kinds of spindle noses. H_I B
I_
38 Jr s 3] 33 g
| |
il
L SR
O
Fig.1 Fig.2
>> Specifications
Order Number| MODEL | \O%® 01I;Spind|e A H H2 E Reference Drawing Price
707500 | JTOO05A.4 A4 110 82.6 -- 20 -1 Fig-1 300
707502 | JTO06A.5 A5 140 104.8 -- 15 -1 Fig-1 300
707504 JTO08A,6 A,6 170 133.4 -- 17 -1 Fig-1 400
707506 JTO10A,8 A8 220 171.4 -- 18 -1 Fig-1 500
707508 JTO12A,8 A8 220 171.4 -- 18 -1 Fig-1
707510 JTO15A,11 A11 300 235 -- 22 -1 Fig-1
707512 JTO18A,11 A11 300 235 -- 22 -1 Fig-1
707514 JTO21A,15 A,15 380 300.2 -- 27 -1 Fig-1
707516 JT024A,20 A,20 520 463.6 -- 27 -1 Fig-1
Order Number| MODEL |Noseofspindlel 5 H H2 E Reference Drawing Price
707600 JTO05A,5 A,5 110 104.8 82.6 45 -3 Fig-3 400
707602 JTO06A,4 A4 140 82.6 104.8 20 -2 Fig-2
707604 JTO06A,6 A,6 140 133.4 104.8 40 -2 Fig-2
707606 JTO8A,8 A8 170 171.4 133.4 45 2 Fig-2 o
707608 JTO8A,5 A,5 170 104.8 133.4 23 -2 Fig-2
707610 JTO10A,6 A6 220 133.4 171.4 28 2 Fig-2
707612 JTO12A,6 A6 220 133.4 171.4 28 -2 Fig-2 e
707614 JTO12A,11 A 11 220 235 171.4 54 -2 Fig-2
707616 JTO15A,8 A8 300 171.4 235 33 2 Fig-2
707618 JTO18A,8 A8 300 171.4 235 33 P Fig-2
707620 JTO21A,11 A 11 380 235 330.2 41 2 Fig-2
707622 JTO24A,11 A,11 520 235 463.6 45 2 Fig-2
707624 JT024A,15 A15 520 330.2 463.6 42 -2 Fig-2

BAR PU LLERS FOR CNC LATH ES Bar Pulleris great for installing on the turret of CNC Lathes or

other Automatic special purpose machines to substitute for
automatic bar feeder. For the repetitive pulling length is very
accurate; the use of Bar Puller is a very convenient and effective
alternative for automatic machines.

Application:
1.The opening of bar puller shall be
>>Dimensions 3~5mm less than the diameter of
work piece.
|-”- - 40 =] 2.The gripping length has to be more
iy I~ 80 e L than 16mm from chuck surface.
9 l | A 3.R1 Gripping range:12~26mm.
/ [ | 45 H|e 4.R2 Gripping range:27~46mm. R
s \ &7 = = o
E: "‘lg 8 g :_N’_ _‘ ol s \er_l R1 R2 S T
N 11 A | By 2
| TE A ¥ 5 | | 16 32 32 [ 315
el 1 = a e |, S
A ua 16 32 25 | 24.5

I M27 www.borte.com.cn



Lathe Sleeve/ Converter

(Parts)
% Model No |Stock Pimension (mm) Assembly Holder Serev e Order | 5. o
3 @D ad L H ' /Qx Number
SHB-1602 ° 16 2 100 15 Cco2 708100/ 200
SHB-1603 | * 16 3 100 15 co3 708102| 200
SHB-1604 hd 16 4 100 15 C04/H04 JM40 L2 708104/ 200
SHB-1605 | e 16 5 100 15 C05/H05 708106| 200
SHB-1606 | ® 16 6 100 15 C06/H06 708108| 200
SHB-1607 ° 16 7 100 15 C07/sS08 708110 200
SHB-1608 o 16 8 100 15 C08/508 708112| 200
SHB-1610 d 16 10 100 15 C10/510 JM60 L3 708114/ 200
SHB-2004 o 20 4 100 18 co4 708116 250
SHB-2005 L 20 5 100 18 CO05 708118 250
SHB-2006 4 20 6 100 18 Co6 708120 250
SHB-2008 . 20 8 100 18 C08/S08 708122| 250
% SHB-2010 L 20 10 100 18 Cc10/510 JM60 L3 708124 250
@ SHB-2012 . 20 12 100 18 C12/512 708126| 250
SHB-2204 ° 22 4 100 20 C04 708128| 300
SHB-2205 ° 22 5 100 20 CO05 JM40 L2 708130/ 300
SHB-2206 ° 22 6 100 20 C06 708132| 300
SHB-2208 ° 22 8 100 20 C08/S08 708134/ 300
SHB-2210 ° 22 10 100 20 C10/S10 JMB0 L2 708136/ 300
SHB-2212 ° 22 12 100 20 C12/512 708138| 300
SHB-2216 | e 22 16 100 20 C16/S16 708140| 300

MTHR Lathe Quick Center Block

Order Model No Stock Pimension (mm) Price
Number D | L |L1|H]|H2

708200 MTHR2032 [ 32 80 18 64 20 500

708202 MTHR2532 . 32 80 18 64 25 500

708204 MTHR2540 L4 40 90 30 76 25 500

708206 MTHR3240 ° 40 90 30 76 32 500

708210 MTHR2040 b 40 90 30 76 20 500

MCH Centre-drill Holder

(Parts)

N(Z:Tc]j;;r AT Stock Dimension (mm) . orice
DA B|L | H1Tscrew| A

708220 MCH2020K-05 . 5 |20 |20 |125| 20 FS40 L2 500
708222 MCH2020K-06 . 6 | 20 | 20 [125] 20 FS50 L2.5 | 500
708224 MCH2020K-08 e | 8|20|20125/ 20| Fse0| L3 |s500
708226 MCH2020K-10 e | 10|20 | 20 |125| 20 FS80 L4 500
708228 MCH2525M-05 J 5 | 25|25 |150| 25 FS40 L2 500
708230 MCH2525M-06 . 6 | 25| 25 |150| 25 FS50 L2.5 500
708232 MCH2525M-08 * 8 | 25|25 |150| 25 FS60 L3 500
708234| MCH2525M-10 ® | 10| 25| 25 |150| 25 FS80 L4 500

- M28

www.borte.com.cn



Lathe parts

Sleeve
FIG-1 FIG-2
M
) )
@ D D1| d @ M| D
) )
K] H
L L1
L
Dimension (mm)
Order Number Model No Stock Fig | Price
d D L L1 D1 H M
708300 D16-T03 . 3 M4 300
708302 D16-T04 o 4 M4 250
708304 D16-T05 o 5 19 14 M5 1 250
708306 D16-T06 o 6 ) 250
708308 | D16-T07 . 7 16 62 55 mg 250
708310 D16-T08 o 8 250
708312 D16-T10 . 10 24.5 Mo 250
708314 D16-T12 . 12 19 50 M4 2 | 250
708316 D20-T02 o 2 9 300
708318 D20-T03 o 3 300
708320 D20-T04 o 4 200
708322 D20-T05 o 5 200
708324 D20-T06 . 6 17.5 M6 200
708326 D20-T07 . 7 1 | 200
708328 D20-T08 . 8 200
708330 D20-T09 ° 9 20 67 60 27 200
708332 D20-T10 . 10 200
708334 D20-T12 o 12 200
708336 D20-T13 . 13 200
708338 D20-T14 . 14 200
708340 | D20-T16 . 16 40 13 | 2 ] 50
708342 D20-MTA1 o | MTA1 _ _ 300
708344 D20-MTA2 | e | MTA2 300
708346 D25-T04 o 4 200
708348 D25-T05 o 5 200
708350 D25-T06 o 6 200
708352 D25-T07 . 7 200
708354 D25-T08 . 8 23.5 M6 1 | 200
708356 D25-T09 o 9 200
708358 D25-T10 o 10 200
708360 D25-T12 . 12 200
708362 D25-T13 o 13 25 64 >8 35 200
708364 D25-T14 . 14 200
708366 D25-T16 o 16 200
708368 D25-T18 . 18 51 12 5 | 200
708370 D25-T20 o 20 200
708372 D25-T22 . 22 200
708374 D25-MTA1 e | MTA1 _ _ 300
708376 D25-MTA2 | e | MTA2 300

M29 www.borte.com.cn



Lathe sleeve

Dimension (mm)
Order Number Model No Stock Fig | Price
d D L L1 D1 H M
708400 D32-T04 ° 4 200
708402 D32-T0O5 ° 5 200
708404 D32-T06 ° 6 85 70 M6 200
708406 D32-T07 ° 7 200
708408 D32-T08 ° 8 200
708410 D32-T09 ° 9 295 200
708412 D32-T10 ° 10 200
708414 D32-T12 ° 12 1 200
708416 D32-T13 ° 13 M8 200
708418 D32-T14 . 14 32 85 55 38 200
708420 D32-T16 ° 16 200
708422 D32-T18 ° 18 200
708424 D32-T20 . 20 200
708426 D32-T22 ° 22 77 14 2 200
708428 D32-T25 ° 25 200
708430 D32-MTA1 ° MTA1 300
708432 D32-MTA2 ° MTA?2 - - 300
708434 D32-MTA3 ° MTA3 300
708436 D40-T04 ° 4 250
708438 D40-TO5 ° 5 250
708440 D40-TO06 ° 6 250
708442 D40-T07 ° 7 250
708444 D40-T08 ° 8 250
708446 D40-T09 ° 9 250
708448 | D40-T10 e | 10 38 | M8 | 11 55
708450 D40-T12 ° 12 250
708452 D40-T13 ° 13 250
708454 D40-T14 ° 14 250
708456 D40-T16 . 16 40 100 85 46 250
708458 D40-T18 ° 18 250
708460 D40-T20 ° 20 250
708462 D40-T22 ° 22 250
708464 D40-T25 o 25 77 14 2 | 250
708466 D40-T30 ° 30 250
708468 D40-T32 . 32 250
708470 D40-MTA1 . MTA1 350
708472 D40-MTA2 ° MTA2 350
708474 D40-MTA3 ° MTA3 ) B 350
708476 D40-MTA4 ° MTA4 350
708478 D50-T08 ° 8 500
708480 D50-T10 ° 10 500
708482 D50-T12 ° 12 500
708484 D50-T16 ° 16 48 M8 1 500
708486 D50-T20 ° 20 500
708488 D50-T25 ° 25 50 100 85 58 500
708490 D50-T32 ° 32 500
708492 D50-T40 . 40 77 14 2 500
708494 D50-MTA3 ° MTA3 500
708496 D50-MTA4 o | MTA4 - - 500
708498 D50-MTA5S ° MTAS 500

www.borte.com.cn M30



Lathe parts

L1
L L2
Face L4
T\
(@V] /lk —] —
N [ ] T =1
max L3
I
Order Dimension (mm) Nut
Number Model No Stock Collet W h Price
L L1 L2 |maxl3| L4 C1 D1 D2 renc
708500/ SSH16-ECH7-32 ° 32 48 16 35 16 300
708502 SSH16-ECH7-70 ° 70 94 24 55 300
708504 SSH20-ECH7-45 ° 45 61 16 45 11.5 23 0.5-7 AR11 FK-3 300
708506, SSH20-ECH7-70 . 70 94 24 55 300
708508 SSH20-ECH7-105 ° 105 129 24 70 300
708510] SSH20-ECH10-40 ° 40 63 23 45 20 300
708512 SSH20-ECH10-70 ° 70 105 35 70 17 32 0.5-10 AR16 FK-4 300
708514 SSH20-ECH10-105 ° 105 140 35 80 300
708516/ SSH20-ECH13-70 ° 70 106 36 75 19 36 1-13 AR20 FK-5 300
708518 SSH25-ECH7-62 ° 62 86 24 55 11.5 23 0.5-7 AR11 FK-3 400
708520/ SSH25-ECH10-70 70 105 35 70 400
708522 SSH25-ECH10-105 105 140 35 80 7 32105101 55 ART6 | FK-4 1400
708524 SSH25-ECH13-70 70 106 36 75 19 36 1-13 AR20 FK-5 400
708526/ SSH25-ECH16-70 70 110 40 80 20 43 1-16 AR25 FK-6 400
708528 SSH32-ECH13-80 80 116 36 75 19 36 1-13 AR20 FK-5 500
708530/ SSH32-ECH16-80 80 120 40 80 20 43 1-16 32 AR25 FK-6 500
708532 SSH32-ECH20-80 80 128 48 100 500
708534 SSH40-ECH20-80 80 128 48 100 23 51 2-20 40 AR32 FK-8 600
708536/ SSH40-ECH20-110 110 158 48 100 600
L1
L2 L L2
L4 Face « L4
" 0O
== [ [ ] —f =
P gy et
Dimension (mm)
N(L)J'I::l‘e);r Model No Stock Collet Nut | Price
L L1 L2 c1 L4 D1 D2 Wrenc
708600 SSH20-ECH7WS-33 ° 33 65 20 500
708602 SSH20-ECH7WS-53 . 53 85 16 19 115 0.5-7 AR11 | SP-17A 500
708604 SSH3/4-ECH7WS-33 ° 33 65 19.05 500
708606 SSH3/4-ECH7WS-53 ° 53 85 ) 500
708608 SSH22-ECH1OWM-70 | e |70 122 26 22 18 | 0.5-10 AR16 |AE-16M| 600
708610 SSH22-ECH10WM-85 ° 85 137 22 600
708612 SSH22-ECH7WMS-100 ° 100 142.5 16.5 19 11.5 0.5-7 AR11 |AP-17A| 600
708614 SSH22-ECH10WMS-100, o 100 142.5 26 22 18 0.5-10 AR16 |AE-16M| 600
708616/ SSH32-ECH13WM-55 ° 55 109 27 28 19 1-13 32 AR20 |AE-20M| 800
708618 SSH32-ECH13WM-85 ° 85 138 27 28 19 AR20 |AE-20M| 800

M31 www.borte.com.cn



| Lathe Extension Rod

COLLET HOLDER FOR COOLANT

Itis used together with a coolant collet.
A piping screw is in the back or the side of a th%Ider.

L | L2
RC1/8 Face RC1/8 | L4
‘ S L
~ FﬁjQLN -
| T DT o
max L3
Dimension (mm)
\order Model No Stock collet | NYT | price
umboe L L1 L2 |maxL3 L4 D3 D1 D2 Wrench
708700/ SSH20-ECH70H-40 . 70 106 36 83 11.5 23 0.5-7 AR11 FK-3 400
708702| SSH20-ECH100H-40 ° 40 85 45 55 20 400
708704 SSH20-ECH100H-70 . 70 115 45 85 7 32 0-5-10 AR16 Fi-4 400
708706/ SSH20-ECH130H-70 . 70 117.5 47.5 85 19 36 1-13 AR20 FK-5 400
708708/ SSH25-ECH100H-70 ° 70 115 45 85 500
.5-1 AR1 FK-4
708710 SSH25-ECH100H-105 | o | 105 150 45 95 17 3p | 0.5-10 s 6 o
708712 SSH25-EOH130H-70 ° 70 117.5 47.5 85 19 36 1-13 AR20 FK-5 500
708714 SSH25-ECH160H-70 ° 70 121 51 85 20 43 1-16 AR25 FK-6 500
708716/ SSH32-ECH130H-75 o 75 122.5 | 47.5 85 19 36 1-13 AR20 | FK-5 | 600
708718/ SSH32-ECH160H-75 . 75 126 51 85 20 42 1-16 32 AR25 FK-6 600
708720 SSH32-ECH200H-75 ° 75 134 59 90 an cq 2-20 AR32 FK-8 600
708722 SSH3/4-ECH100H-105| 105 150 45 94 ;; ;2' 05-10 L1995 | A6 | Fr.a 400
708724 SSH1-ECH100H-105 e | 105 150 45 94 i 25.4 500

COLLET HOLDER FOR COOLANT

Itis used together with a coolant collet.
A piping screw is in the back or the side of a holder.
L1

L L2
RC1/8 Face L4

D2
h_
f
D1

‘ max L3

I

Dimension (mm)
NO::g;r edel Ne Slock D2 | Collet | NYt [ price
. L L1 L2 |maxLl3| L4 D3 D1 D2 Wrench
708800, SSH20-ECH7SOH-40 ° 40 56 16 33 11.5 19 0.5-7 AR11 | SP-17A| 350
708802] SSH20-ECH10SOH-40 . 40 62 22 36 20 17 350
708804] SSH20-ECH10SOH-70 . 70 90 22 66 17 28 | 05-10 AR16 | sp.ps | 350
708806/ SSH25-ECH10SOH-40 . 40 63 23 37 450
708808| SSH25-ECH10SOH-50 ° 50 73 23 47 25 22 450
708810/ SSH25-SOH13SOH-50 ° 50 73.5 23.5 46 19 34 1-13 AR20 | SP-30 | 450
708812| SSH32-ECH20SOH-80 . 80 115 35 75 23 50 2-20 32 36 AR32 | FK-7 | 500

www.borte.com.cn M32



Lathe parts

STANDARD LIVE CENTER

Order q .
Numifaas Model A| B| C|D|D1|d L |Accuracy| @ | Weightkgs Price
709100 | BZMT3H | 39| 55| 86| 53 | 30 | - | 180| 0.005 | 60° | 1.28kgs
709102 | BZMT4H | 42| 62| 108| 63 | 32 | - |208| 0.005 | 60° | 2.20kgs @
709104 | BZMTSH | 49| 71| 136| 83 | 40 | - |256| 0.005 | 60° | 4.33kgs _
Carbide
709106 | BZMT5H | 80 | 110/ 189| 128| 70 | - |379| 0.008 | 60° | 14.2kgs
709108 | BZMTAB | 17| 43| 70| 35| 15 | - | 120 0.005 | 60° | 0.75kgs
709110 | BZMT2B | 24| 41| 80| 45| 20 | - |145| 0.005 | 60° | 0.95kgs
709112 | BZMT3B | 39| 55| 86| 53 | 30 | - |180| 0.005 | 60° | 1.28kgs @
709114 | BZMT4B | 42| 62| 108| 63 | 32 | - |208| 0.005 | go° | 2.20kgs |Standard
709116 | BZMTSB | 49 | 71|136| 83 | 40 | - |256| 0.005 | g0° | 4.33kgs
709118 | BZ-MT6B | 80 | 110| 189| 128| 70 | - |379| 0.008 | gg° | 14.2kgs
(=]
709120 | BZMT3X | 45| 55| 86| 53 | 30 | 10 | 186 0.005 | gg° | 1.28kgs @
709122 | BZMT4X | 52| 62| 108| 63 | 32 | 12 | 218| 0.005 | go° | 2.20kgs
Slightness
709124 | BZMTS5X | 59| 71| 136] 83 | 40 | 14 | 266| 0.005 | ggo | 4.42kgs
STANDARD HEAVY-DUTY LIVE CENTER
Oetar Model Al B| C|D|DI|d| L |Acuacy| @ |Weightkgs Price
L Number
- .
A e B . . 709200 | ZXB-MT.3H | 35| 65| 86| 64 | 25 | - | 186 0.005 | 60° | 1.9kgs
709202 | ZXB-MTA4H | 41| 74| 108| 73 | 32 | - |223| 0.005 | 60° | 2.85kgs
709204 | ZXB-MTS5H | 49 | 78| 136| 94 | 40 | - | 263| 0.005 | 60° | 5.6kgs | Carbide
709206 | ZXB-MT.3B | 35| 65| 86| 64 | 25 | - | 186 0.005 | 60° | 1.9kgs
709208 | ZXB-MTA4B | 41| 74 |108| 73 | 32 | - |223| 0.005 | go° | 2.85kgs
709210 | ZXB-MT5B | 49 | 78 | 136| 94 | 40 | - | 263| 0.005 | go° | 5.6kgs |Standard
HIGH-SPEED PRECISION LIVE CENTER
ety Model Al B| C| D |DI|d| L |Acuacy| @ |Weightkgs Price
Number
' 709300 | GS-MT3H | 38| 58| 86| 48 | 30 | - | 182| 0.005 | 60° | 1.25kgs
709302 | GS-MT4H | 45| 65| 108| 62 | 32 | - |215| 0.005 | 60° | 2.22kgs @
709304 | GS-MT5H | 50 | 70 | 136| 72 | 40 | - |256| 0.005 | 60° | 3.60kgs | Carbide
L L X 709306 | GS-MT3B | 38| 58| 86| 48 | 30 | - | 182| 0.005 | 60° | 1.25kgs @
709308 | GS-MT4B | 45| 65| 108| 62 | 32 | - |215| 0.005 | go° | 2.22kgs
0 700310 | GSMT5B | 50 | 70| 136] 72 | 40 | - | 256| 0.005 | goe | 3.60kgs | Standard
A 709312 | GS-MT3C | 48 | 58| 86| 48 | 30 | 10 | 192| 0.005 | gg° | 1.28kgs
709314 | GS-MTAC | 52 | 65| 108| 62 | 32 | 12 | 225| 0.005 | goe | 2.26kgs @
Y .
700316 | GS-MT5SC | 60 | 70 | 136| 72 | 40 | 14 | 266| 0.005 | ggo | 3.66kgs |SHONNESS

M33 www.borte.com.cn



Lathe Tailstock Center

LARGE-DUTY LIVE CENTER

Nﬁ::;;r Model MT6-6T MT6-8T | MT6-10T M80-8T M80-10T| M80-12T | Price
. A P 709400 (ka) 6000 8000 10000 8000 10000 12000
K 'l 709402 (mm) 0.01 0.01 0.01 0.01 0.01 0.01
i C 709404 A 196 215 215 196 215 257
—t— L — .4 709406 B 140 160 180 160 180 200
o q OE— - i (—— jﬁ 709408 D 60 70 80 70 80 85
v 709410 K 62 68 77 68 77 86
_‘ HJ 709412 0 60° 60° 60° 60° 60° 60°
SIDES LIVE CENTER
) Ord
Y Nu:ﬂs;r Model A|lB|C| D|D1| d| L |Acuacy| @ | Weightkgs Price
709500 | WX-MT3H | 39| 55|86 | 53| 45 | - |180| 0.005 | 60°| 1.28kgs @
709502 | WX-MT4H | 42| 62 |108| 63 | 53 | - |208| 0.005 | 60°| 2.20kgs
700504 | WX-MT5H | 49| 71 136 | 83| 68 | - |256| 0.005 | go°| 4.33kgs | CaPide
L . 709506 | WX-MT3B | 39| 55|86 | 53| 45 | - |180| 0.005 | go°| 1.28kgs
A e B c N 709508 | WX-MT4B | 42| 62 |108| 63 | 53 | - |208| 0.005 | ggo| 2.20kgs @
2 Y 709510 | WX-MT5B | 49 | 71 |136| 83| 68 | - |256| 0.005 o| 4.33kgs | Standard
o ET > //////// KN\W\ \\\\\\\\\\\\\ 709512 | WX-MT3X | 45| 55| 86 | 53| 45 | 10 | 186| 0.005 :Z° 1.28st
v ll . 709514 | WX-MT4X | 52| 62 |108| 63 | 53 | 12 | 218| 0.005 | ggo| 2.20kgs @
709516 | WX-MT5X | 59| 71 136 | 83| 68 | 14 | 266| 0.005 | qoo| 4.42kgs |Slightness

SIDES LIVE CENTER

N(L)J::;;r Model Al B|C| D|D1| d| L |Acuracyl @ | Weightkgs Price
709600 | WX-MT3C | 28| 55 | 86 | 60| - 169| 0.005 | 60°| 1.8kgs

709602 | WX-MTAC | 30| 62 |108| 80| - 196| 0.005 | 60°| 2.4kgs @

709604 | WX-MT5C | 34 | 71 |136| 120| - 266| 0.005 | §0°| 5.0kgs |Standard

www.borte.com.cn  M34



LIVE CENTER

=

—

o o
|
==

BULLNOSE CENTER

i Model A B c D D1 L Accuracy 0 Weight kgs Price
709700 | SX63-MT.2 46 17 69 60 12 132 0.005 60° 0.9kgs
709702 | SX63-MT.3 46 17 86 60 12 149 0.005 60° 1.0kgs
709704 | SX 78-MT.3 52 18 86 80 15 156 0.005 70° 1.3kgs
709706 | SX 106-MT.3 59 16 86 100 25 161 0.008 70° 2.7kgs
709708 | SX 63-MT.4 46 17 108 60 12 171 0.005 60° 1.0kgs
709710 | SX78-MT.4 52 18 108 80 15 178 0.005 70° 1.45kgs
709712 | SX 106-MT.4 59 16 108 100 25 183 0.008 70° 3.0kgs
709714 | SX 128-MT.4 73 12 108 130 40 193 0.008 70° 4.8kgs
709716 | SX 156-MT.4 88 12 108 150 45 208 0.010 70° 7.6kgs
709718 | SX 206-MT.4 98 12 108 200 81 218 0.010 70° 17kgs
709720 | SX 258-MT.4 107 13 108 250 92 228 0.015 80° 27kgs
709722 | SX 128-MT.5 73 12 136 130 40 221 0.008 70° 5.8kgs
709724 | SX 156-MT.5 88 12 136 150 45 236 0.010 70° 8.5kgs
709726 | SX 206-MT.5 98 12 136 200 81 246 0.015 70° 18kgs
709728 | SX 258-MT.5 107 13 136 250 92 256 0.015 80° 28kgs
709730 | SX 306-MT.5 107 30 136 300 120 273 0.020 90° 37.5kgs
709732 | SX 206-MT.6 98 12 190 200 81 300 0.010 70° 20.6kgs
709734 | SX 258-MT.6 107 13 190 250 92 310 0.015 80° 30.6kgs
709736 | SX 306-MT.6 107 30 190 300 120 327 0.020 90° 40kgs

. M35 www.borte.com.cn



| Lathe Tailstock Center

DEAD CENTER

CARBIDE HALF-NOTCHED CENTER

MT.NO.
60° ] i Do . [ ]
- Order —— .
Number Model & Specification Taper do D1 L1 Price
L— = 709800 D142 MT.2 17.780 36 100 100
I L 709802 D143 MT.3 23.825 44 125 125
1
709804 D144 MT.4 31.267 58 160 160
709806 D145 MT.5 44.399 70 200 200
DEAD CENTER 709808 D146 MT.6 63.348 98 280 280
MT.NO.
Model & Specification
Order a
LA Number Taper do D1 L1 Price
|
£ H DI Ordinary Class Accurate Class
60° - | ; - J— 700810| D11g4 D11p4 10 33 33
i 709812
- D11¢p6 D11¢p6 1:20 15 47 47
' 709814 D11p80 D11p80 80 119 315 315
fe——— | —
709816 D11¢100 D11¢100 100 128 360 360
L 709818 D110 D110 MT.0 9.045 20 70 70
709820 D111 D111 MT.1 12.065 26 80 80
709822 D112 D112 MT.2 17.780 36 100 100
709824 D113 D113 MT.3 23.825 44 125 125
709826 D114 D114 MT.4 31.267 58 160 160
709828 D115 D115 MT.5 44.399 70 200 200
CARBIDE DEAD CENTER 709830 D116 D116 MT6 | 63.348 98 280 280
MT.NO.
Order I X
%/f / Number Model & Specification Taper do D1 L1 Price
60° \ . 1 D.° 709840 D121 MT.1 12.065 26 80 80
S / l) 709842 D122 MT.2 17.780 36 100 100
I 709844 D123 MT.3 23.825 44 125 125
’ 709846 D124 MT.4 31.267 58 160 160
L 709848 D125 MT.5 44.399 70 200 200
Ls 709850 D126 MT.6 63.348 98 280 280
HALF-NOTCHED CENTER -
Order Model & Specification . .
MT.NO. Nl aper do D1 L1 Price
L / Ordinary Class Accurate Class
\( J l Sc 709852 D130 DM130 MT.0 9.045 20 70 70
60° i ! 709854 D131 DM131 MT.1 12.065 26 80 80
/\ i/{ 709856 D132 DM132 MT.2 17.780 36 100 100
709858 D133 DM133 MT.3 23.825 44 125 125
| — 709860 D134 DM134 MT.4 31.267 58 160 160
Ls 709862 D135 DM135 MT.4 44.399 70 200 200
709864 D136 Dm136 MT.6 63.348 98 280 280
www.borte.com.cn - M36



	1: M01:CNC Lache Chucks
	2: M02
	3: M03
	4: M04
	5: M05
	6: M06
	7: M07
	8: M08
	9: M09
	10: M10
	11: M11
	12: M12
	13: M13
	14: M14
	15: M15
	16: M16
	17: M17
	18: M18
	19: M19
	20: M20
	21: M21
	22: M22
	23: M23
	24: M24
	25: M25:Jaws
	26: M26
	27: M27:MOUNTING PLATES   
	28: M28:Sleeve
	29: M29
	30: M30
	31: M31:ER Chucks
	32: M32
	33: M33:Live Center
	34: M34
	35: M35
	36: M36



